Mechanical Data [up 1

Single Phase - General Purpose - TEFC - CastIron . . . . . . . . . . . . e B-52
Single Phase - General Purpose - TEFC - Castlron - C-Face . . . . . . . . . . . . e B-54
Single Phase - General Purpose - TEFC - Rolled Steel - Standard Efficiency . . . . . . . .. .. .. .. ... . . . .. .. .. .. ... ... B-56
Single Phase - General Purpose - TEFC - Rolled Steel - Standard Efficiency - C-Face . . . . .. .. .. .. ... ... .. .. .. ...... B-58
Single Phase - General Purpose - ODP - Rolled Steel - Standard Efficiency . . . . . . .. ... . . .. ... . . .. . . .. . ... ... B-60
Single Phase - General Purpose - ODP - Rolled Steel - Standard Efficiency -C-Face . . . . . . . . . .. ... .. ... . ... .. ...... B-62
Single Phase - General Purpose - ODP - Rolled Steel - Premium Efficiency. . . . . . . . . . . . ... .. .. . . . B-64
Single Phase - General Purpose - ODP - Rolled Steel - Premium Efficiency -C-Face . . . . . . . .. .. ... ... ... ... .. ...... B-66
TEFC —W22 NEMA Premium® Efficiency . . . . . . . . . o o B-68
C & D Flanges Dimensions — Valid for Cast Iron TEFC and ODP - C-Flange additional detail . . . . ... ... ... .. .. .......... B-70
D-Flange additional detail . . . . . . . . . . e B-70
Rolled Steel - General Purpose - Three Phase - TEFC . . . . . . . . . . . e e B-71
Rolled Steel - General Purpose - Three Phase - ODP . . . . . . . . . . . e e B-73
ODP — Cast Iron - Three Phase - General PUrPOSE . . . . . . . . . o o e e e e e e B-74
Explosion Proof - Three Phase . . . . . . . . . o e B-76
Fractional - Three Phase - TEFC - NEMA Premium® . . . . . . . . . . . e e e B-78
Fractional - Three Phase - TEFC - NEMA Premium® - C-Face . . . . . . . . . . . . . . e e e e e B-79
Fractional - Three Phase - TEFC - Standard Efficiency . . . . . . . . . . . . . e B-80
Fractional - Three Phase - TEFC - Standard Efficiency - C-Face . . . . . . . . . . . . . . . . e B-81
Fractional - Three Phase - ODP - Premium Efficiency. . . . . . . . . . . . e B-82
Fractional - Three Phase - ODP - Premium Efficiency - C-Face . . . . . . . . . . . . . . e B-83
Fractional - Three Phase - ODP - Standard Efficiency . . . . . . . . . . . B-84
Fractional - Three Phase - ODP - Standard Efficiency - C-Face . . . . . . . . . . . . . . . . B-85
Cooling Tower Motors - Three Phase - TEFC . . . . . . . . . . o e e e e e e B-86
Cooling Tower Motors - Three Phase - TEAD . . . . . . . . . . o o e e e B-90
CCP-JM-Three Phase - TEFC - Rolled Steel . . . . . . . . . . . . e B-93
CCP-JM-Three Phase - TEFC - CastIron. . . . . . . . . . . e e e e B-95
CCP-JP-Three Phase - TEFC - Rolled Steel. . . . . . . . . . . . e e B-98
CCP-JP-Three Phase - TEFC - CastIron . . . . . . . . . . . e e e s e e s e e e B-100
CCP-JM -Three Phase - ODP - Rolled Steel . . . . . . . . . . B-103
CCP-JP-Three Phase - ODP - Rolled Steel . . . . . . . . . . . B-103
IEC Metric Motors - CastIron Frames. . . . . . . . . . . . B-106
IEC Metric Motors - Cast Iron Frames - Additional C-Flange Detail . . . . . . . . . . . . . . . . . . . . . B-108
IEC Metric Motors - Cast Iron Frames - Additional F-Flange Detail . . . . . . . . . . . . . . . . . . . . . . . . B-109

B— 50 Www.wegd. net Data subject to change without notice.



|||E O Mechanical Data

NOTES:

s
3
(=]
©
=
=
<
=
o
D
=

Data subject to change without notice. Can’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934) B-51



Mechanical Data [up 1

Single Phase - General Purpose - TEFC - Cast Iron

Frame 2E J A P AB 2F B EV BA U N-w Key Length
143/5T 55 1.457 6.457 7.244 7.126 4 6.142 0.571 2.25 0.875 2.25 1.575
182/41 7.5 1614 8.661 8.937 8.1 4.5 6.969 0.734 2.75 1.125 2.75 1.969
213/5T 8.5 1.791 9.764 10.787 9.212 5.5 8.858 0.929 3.5 1.375 3.375 2.48
Frame | Width R Depth D G HB 0 HH HK Hole H C Lm S AA DE NDE

143/5T | 0.187 | 0.766 | 0.187 35 0.354 | 1.043 | 7122 | 475 | 3583 | 0.34 14.49 8.1 0.187 | NPT 3/4” 6205 77 6203 72

182/41 0.25 0.984 0.25 45 0.394 | 1574 | 8.897 55 3.7 0.41 17.012 | 9.134 0.25 NPT 1” 6207 22 6206 22
213/5T | 0.313 | 1.203 | 0.313 5.25 0.669 | 2.362 | 10.84 7 3.7 0.41 20.095 | 9.134 | 0.313 NPT 17 6308 ZZ 6206 72

Frames 143/5

B— 52 Www.wegd. net Data subject to change without notice.



|||E O Mechanical Data

Single Phase - General Purpose - TEFC - Cast Iron

Frames 182/4
—— HK f P
AB
I
' -
[ <+
1 T
3
[e) ES
N p .
o
l T
4 J L S EV—| |—
T 2E L l— 2oF —
. SEN,
S R [o]
DE.
Frame 213/5

g
(=]
=
=
=
<
o=
S
)
=

Data subject to change without notice. Can’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934) B-53



Mechanical Data [up 1

Single Phase - General Purpose - TEFC - Cast Iron - C-Face

Frame Type Flange Size BC AJ AK BD S T AH Angle BF Number
143/5T C C FC-149 0.125 5.875 45 6.5 UNC 3/8”x16 0.157 2.125 45° 4
182/4T C C FC-184 0.125 7.25 8.5 8.875 UNC 1/2"x13 0.25 2.625 45° 4
213/5T C C FC-184 0.25 7.25 8.5 8.875 UNC 1/2"x13 0.25 3.125 45° 4
Frames 143/5
—— HK I P
AB ~—— HH ——
I (@ o)
| —
(=5 37 I |
1 | Ry T H
: W2g |
L gAJ o 2 -
— =] s
— sHt— —| @& — — — \—|lH < m
_I | N s ©
\ oo _ |
© @ !
1 | e _l ‘ \J. T — ‘“.E.\ k’
nL Ly H——IL—' 5 EV—{ |— —t—BB
T 2E (? l— 2F —
A = - le— 2F — BA = N-W [~
' B —
S R C
DE.
B-54 www.weg.net

Data subject to change without notice.



|I|E q Mechanical Data

Single Phase - General Purpose - TEFC - Cast Iron - C-Face

Frames 182/4
— HK — P
A8 . ~—— HH —
l fe e\
T " N
f r - / :
i — H
oA o IJTE_E] ES |
. i L ==\l «s
_[ | N e 8
\ W _ |
&) e e‘,
oy | e .
& L | 5 ev—| |— ~l—88
T 2E « — oF —-
A % - ZBF —LBa A N-w -
s R c
DE.
Frame 213/5
, P
AB
BF
1<
" 45-
< s o |
—| _f 8
|a QO
:d_‘f a |
Ly |-
| 2F
A

Data subject to change without notice.

Can'’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934) B-55



Mechanical Data [up 1

Single Phase - General Purpose - TEFC - Rolled Steel - Standard Efficiency

Frame 2E J A P AH 2F B BA CH 1] N-W Key Length
48 4.236 1.835 6.142 6.693 1.689 2.748 3.543 25 1.417 0.5 15 1.26
W56 4.874 1.62 6.535 6.693 2.063 3 4.016 275 1.417 0.625 1.874 1.417

56 4.874 1.732 6.535 7.638 2.062 3 4.016 275 1.377 0.625 1.874 1.417
56H 4.874 1.732 6.535 7.638 2.062 3.000/5.000 6.496 2.75 1.377 0.625 1.874 1.417
143/5T 55 1.732 6.535 7.638 2.132 4.000/5.000 6.496 2.25 1.377 0.875 2.25 1.417
182/4T 7.5 1.299 8.661 9.435 2.62 4.500/5.500 6.299 2.75 1.377 1.125 2.75 1.969
213/5T 8.5 1.575 9.449 10.965 3.129 5.500/7.000 7.953 35 1.929 1.375 3.38 2.48
Frame R Depth D G 0 HD Hole H (H AA T DE NDE
48 0.451 3 0.075 5.83 6.354 0.343 * 0.881” 0.524 6203 72 6202 72
W56 0.517 0.187 35 0.12 6.33 6.854 0.343 * 0.881” 0.524 6203 72 6202 72
56 0.517 0.187 35 0.12 6.724 7.327 0.343 * 0.881” 0.603 6203 72 6202 72
56H 0.517 0.187 35 0.12 6.724 7.327 0.343 * 0.881” 0.603 6204 72 6202 72
143/5T 0.771 0.187 35 0.12 6.724 7.327 0.343 * 1.118” 0.603 6205 7Z 6203 72
182/4T 0.984 0.25 45 0.167 8.557 9.218 0.406 * 1.118” 0.661 6206 ZZ 6205 77
213/5T 1.203 0.313 5.25 0.167 10.144 10.905 0.406 * 1.3717” 0.761 6208 72 6206 22

* Dimension changes with output speed

Frame 48

ES F %:ﬂ
R

;l_l—_l BA| FN-W

HD1

HB

odwhy

Frame W56

d1

HD1
$U

N-W

B— 56 Www.wegd. net Data subject to change without notice.



|iiE[| Mechanical Data

Single Phase - General Purpose - TEFC - Rolled Steel - Standard Efficiency

Frame 56

di

5
i
d

P A
I_ H || BA W
2F —
| — & —
FC
[+
Frames 56H - 143T/5T L —
I
3
| s )
| 00

=N
r oo m
FC
o3
Frame 182/4T
O ) e 3
3
: I:"':iJ
AB W
HK BF
PR sl oz
e ||| <R B o Al ) [mE ® g !
l\ —l e ® J
a S R
= - _l-l H1 _I— %F — ﬂ—N—W
A — B
FC
Frame 213/5T ¢

~B
L

=

Data subject to change without notice.

Can'’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934) B-57



Mechanical Data [up 1

Single Phase - General Purpose - TEFC - Rolled Steel - Standard Efficiency - C-Face

Frame Type Flange Size AJ AK BD S T AH Angle BB BF Number
W56 C C FC-149 5.874 4.5 6.47 UNC 3/8”x16-2B 0.157 2.063 45° 0.157 4
48 C C FC-95 3.748 3 474 UNC 1/4"x20-2B 0.157 1.689 45° 0.157 4
56 C C FC-149 5.874 45 6.45 UNC 3/8"x16-2B 0.157 2.062 45° 0.157 4
143/5T C C FC-149 5.874 45 6.45 UNC 3/8"x16 0.157 2.132 45° 0.157 4
56H C C FC-149 5.874 45 6.45 UNC 3/8"x16-2B 0.157 2.062 45° 0.157 4
182/4T1 C C FC-184 7.25 8.5 8.846 UNC 1/2”x13 0.25 2.62 45° 0.25 4
213/5T C C FC-184 7.25 8.5 9.401 UNC 1/2"x13 0.25 3.129 45° 0.25 4

Frame W56

2 d1
n
R S
Frame 48
i%m
R
Frame 56
—HK =Y > ,"' ]
v 98D - > g
(=)= B n
al | = o PmeEn( e
| 1 N
o (]
I
1 | +
[, T I B -
J H1 H BA —N-W
26 — o2F —I |
A — B —
FC
[

B— 58 Www.wegd. net Data subject to change without notice.



|iiE[| Mechanical Data

Single Phase - General Purpose - TEFC - Rolled Steel - Standard Efficiency - C-Face

Frames 56H - 143/5T

— L —
[
P 3 é@
AB l
prma|
----- -
B : | 00
—HK
- 2l e
IT ol a[] LI l%— x
\ 1 .
9) s a [ R s
b 5= ol
1 yi —
[T e
— 2AE — ZBF — B ~——-N-W
¢

Frame 182/4T

i
h
il

w Sa

Frame 213/5T

Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275*4934) B—59



Mechanical Data

[Weq

Single Phase - General Purpose - ODP - Rolled Steel - Standard Efficiency

Frame 2E J A P AB AH 2F B BA CH u N-w Key R
Length
48 4.236 1.835 6.142 5.709 5.52 1.689 2.748 3.543 25 1.22 0.5 15 1.26 0.451
W56 4.874 1.62 6.535 5.709 5.52 2.063 3 4.016 2.75 1.22 0.625 1.874 1.417 0.517
56 4.874 1.732 6.535 6.456 3.323 2.062 3 4.016 2.75 1.377 0.625 1.874 1.417 0.517
56H 4.874 1.732 6.535 6.456 5.882 2.062 3.000/5.000 6.496 2.75 1.377 0.625 1.874 1.417 0.517
143/5T 55 1.732 6.535 6.467 5.882 2132 4.000/5.000 6.496 2.25 1.377 0.875 2.25 1.417 0.771
182/4T . 7.5 1.299 8.661 8.114 6.696 2.62 4.500/5.500 6.299 2.75 1.377 1.125 2.75 1.969 0.984
213/5T 8.5 1.575 9.449 9.846 7.973 3.129 5.500/7.000 7.953 35 1.929 1.375 3.38 2.48 1.203
Frame D G HB 0 HD HK | Hole H C LL Lm S AA T DE NDE
43 3 0.075 1.559 5.83 6.354 265 | 0.343 * 3.835 3.697 NPT 1/2” 0.524 | 62037Z | 6202 7Z
W56 35 0.12 2.055 6.33 6.854 265 | 0.343 * 3.835 3.697 0.187 NPT 1/2” 0.524 | 62037Z | 6202 7Z
56 35 0.12 1.784 6.724 6.728 2.629 | 0.343 * 4.563 4.09 0.187 NPT 1/2” 0.004 | 6203ZZ | 62027Z
56H 3.5 0.12 1.783 6.724 6.728 2.638 | 0.343 * 4.543 4.106 0.187 NPT 1/2” 0.004 6204 7Z | 6202 ZZ
143/5T 35 0.12 1.783 6.724 6.728 2.638 | 0.343 * 4.543 4.106 0.187 1.118” 0.004 620577 | 6202 ZZ
182/4T 45 0.167 2.784 8.557 8.557 2.629 | 0.406 * 4.563 4.09 0.25 1.118” 0 6206 ZZ | 620577
213/5T 5.25 0.167 2.982 10.144 | 10.173 | 3.022 | 0.406 * 5.551 5.25 0.313 1.377" 0.029 | 6208ZZ | 6206 ZZ
Dimensions change with output speed
Frame 48 P
RN LN
P ﬁ 00
]
=]
Q pu—
2 — R
—
—
I— 2F 1 BA N
I—— B — | N-W
FC
C
Frame W56
P
- B} di
a \d 7]
I
o
2 R s
Frame 56
P
‘\ ,," L1
(D) 28 R
Erpkedg— - pro-T-
2 ® lw = — R s
a f—) [—)
T, T 1
= " BA N-W
A 2F —! |
B
FC i
C
B—60 Www.wegd. net Data subject to change without notice.




|iiE[| Mechanical Data

Single Phase - General Purpose - ODP - Rolled Steel - Standard Efficiency

Frame 56H

nunud? L
H
|
]

Frame 143/5T — L —

Frame 182/4T - 213/5T |

LM
|
g |
I

DP

u

S: R

|
M

I

g

-
S
1
=
5
=z
=

Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275*4934) B—61



Mechanical Data |iiE[|

Single Phase - General Purpose - ODP - Rolled Steel - Standard Efficiency - C-Face

Frame Type Flange Size AJ AK BD S T AH Angle BF Number
W56 - C C FC-149 5.874 4.5 6.47 UNC 3/8”x16-2B 0.157 2.063 45° 4
48 C C FC-95 3.748 3 4.74 UNC 1/4”x20-2B 0.157 1.689 45° 4
56 C C FC-149 5.874 45 6.45 UNC 3/8”x16-2B 0.157 2.062 45° 4
143/5T C C FC-149 5.874 45 6.45 UNC 3/8”x16 0.157 2132 45° 4
56H C C FC-149 5.874 45 6.45 UNC 3/8”x16-2B 0.157 2.062 45° 4
182/4T C C FC-184 7.25 8.5 8.846 UNC 1/2”x13 0.25 2.62 45° 4
213/5T C C FC-184 7.25 8.5 9.401 UNC 1/2"x13 0.25 3.129 45° 4
Frame 48
P
2N N
\ 7 i—BF l] '] ——BB
‘\‘\ o :"’ | —oAJ L]
ﬁ 8B - AH ] 2 d1
T o
E — 1) ©_’T — % ¥ 3 %
£ () > |d e e
} a = |9 B R
It (=] (=1
| | = " }\=I=
|
|J ||H1 I_|:2F———|_|—BA N-W
l— 28— B — |
A FC
c
Frame W56
P
[ PSS
N | ~s 80
E) d1
= &6 83 . . 1 “
[ <
b L '
9 a | R S
I |
ISR L,
J H1 2F BA N-W
l— 28 — B — | "
A FC
c
Frame 56
P
\ Frer | 00
I‘\\\ IIII,
AH
#B0 3z -ES 2 a.
I T -
— > 4O—"— - s
2 [ Y —) s
R s
5 a — — l
T | [ e § [ e
Ll A e BB
— 2 — H BA ———1-N-W
A 2BF |
FC |
c

B—62 www.weg.net Data subject to change without notice.



|iiE[| Mechanical Data

Single Phase - General Purpose - ODP - Rolled Steel - Standard Efficiency - C-Face

Frame 56H
P
Is
J
| 2 e,
o= g
g g T R s
I—ZFH BB
ZBF__IBlA——L——N—W
£

— LL —

Frame 143/5T = @‘g

— P
AB ]_
| m
BF - /
— HK \\ II"
e L sBD 85 A | 2 o
] o — ¥
90° T R s
i 0® -
i |
1, Imm
L ZAE — —N-W

Frame 182/4T - 213/5T

B

P AA
B — -BF
HK e ey
—
/)/( 2 A ™ » >
| T~ A
—l ‘2— o — e — g—@ = %8
Ay = s e !
g - = == sr
© ] =i
~—1-4, 1| = Ao d
: L
m | —t—BB
T J —I—I-—H1 2F —— BA N-W
l— z:: — — 2F —
—— B
FC
c

Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275*4934) B—63



Mechanical Data

[Weq

Single Phase - General Purpose - ODP - Rolled Steel - Premium Efficiency

Frame 2E J A P AB AH 2F B BA CH 1} N-w Key R Depth
Length
48 4.236 1.835 6.142 5.709 5.52 1.689 2.748 3.543 25 1.22 0.5 15 1.26 0.451
W56 4874 1.62 6.535 5.709 5.52 2.063 3 4.016 2.75 1.22 0.625 1.874 1.417 0.517 0.187
56 4.874 1.732 6.535 6.456 3.323 2.062 3 4.016 2.75 1.377 | 0.625 1.874 1.417 0.517 0.187
56H 4.874 1.732 6.535 6.456 5.882 2.062 | 3.000/5.000 | 6.496 2.75 1.377 | 0.625 1.874 1.417 0.517 0.187
143/5T 55 1.732 6.535 6.467 5.882 2.132 | 4.000/5.000 | 6.496 2.25 1.377 | 0.875 2.25 1.417 0.771 0.187
Frame D G HB 0 HD Hole H (H LL LM S T DE NDE
48 3 0.075 1.559 5.83 6.354 2.65 0.343 * 3.835 3.697 0.524 620372 | 6202272
W56 35 0.12 2.055 6.33 6.854 2.65 0.343 * 3.835 3.697 0.187 0.524 620377 | 62027z
56 35 0.12 1.784 6.724 6.728 2.629 0.343 * 4.563 4.09 0.187 0.004 6203772 | 620272
56H 35 0.12 1.783 6.724 6.728 2.638 0.343 * 4.543 4.106 0.187 0.004 6204 72 | 620277
143/5T 35 0.12 1.783 6.724 6.728 2.638 0.343 * 4543 4.106 0.187 0.004 620577 | 62027Z
Dimensions change with output speed
Frame 48
P
PN T
aaYre 00
S o 3 di
RN L F = ]
o R —
M 2. Q) C= = .
=) [ e —
%% [} —= —
-— -—
L 10, [l
J H1 2F BA -N-W
l— 28— B — |
A FC
[
Frame W56
P
RaERN g N
YT E D 00
L1
- o ) di
% o — L
o N ] =
s (emmn] —
— [ R s
—= —=
L -—p
[ R
FC |
c
B—64 Www.wegd. net Data subject to change without notice.




|iiE[| Mechanical Data

Single Phase - General Purpose - ODP - Rolled Steel - Premium Efficiency

Frame 56
P
V 010
||
E:I
] l____ES 2 d1
w
o=l HE ]
[a—) [ —) R s
[ c— ] | c— E]
= =
H BA N-W
r—|
T

Frame 56H

L1
b
T
L Es ? d1w
- pro—"— -
(e [ — R S
[ e — il
— —
]
2F — "
2F —— BA
B — '
FC
Cc

Frame 143/5T

— HK

—HB

Can't find what you are looking for? Call 1-800-ASK-4WEG (275-4934) B-65

Data subject to change without notice



Mechanical Data

[ueq

Single Phase - General Purpose - ODP - Rolled Steel - Premium Efficiency - C-Face

Frame Type Flange Size BB AJ AK BD S T AH Angle BF Number
W56 C C FC-149 0.157 5.874 4.5 6.47 UNC 3/8”x16-2B 0.157 2.063 45° 4
48 C C FC-95 0.157 3.748 3 474 UNC 1/4”x20-2B 0.157 1.689 45° 4
56 C C FC-149 0.157 5.874 4.5 6.45 UNC 3/8”x16-2B 0.157 2.062 45° 4
143/5T C C FC-149 0.157 5.874 4.5 6.45 UNC 3/8”x16 0.157 2132 45° 4
56H C C FC-149 0.157 5.874 45 6.45 UNC 3/8”x16-2B 0.157 2.062 45° 4
Frame W56
P
YA il 0 0 S
(| ~oBD L [
.z =l 2 e
4 22 [ . @
=H{ @0 J4— o™ — 2
< (e} — | -
9 a =) == | R s
o = =[]
I — —
g [l
J H1 2F BA N-VW
l— 28 — B — | o
A FC
C
Frame 48
P
P PN
\ 7 i BF n ﬂ —m—BB
R 45— AL —oA L]
ﬁ’ S NE AH 3 d1
@ Q == - g
— —_— —E @
s o (e — les = = R
) a (e o - l
o — —
I — —
L I [l
J H1 2F BA N-W
— 28 — B — |

B-66

www.weg.net

Data subject to change without notice.



|iiE[| Mechanical Data

Single Phase - General Purpose - ODP - Rolled Steel - Premium Efficiency - C-Face

Frame 56
P
''''' ) T EF ; 00
| - ‘
AH
¢BD: § ‘:D_: [e6 ? dIm
RS i
) i - = = ] s
© | [ } _
LT, T BB
— 2¢ — I__ H BA ——— N-W
A ZBF — |
FC
(o]
Frame 143/5T
|
= @@g
—— P
AB l_
| ”
BF g
— HK —\,
7 L-8BD o — 2 d1
2 g A )
__l. o
90" a R S
m — o
i |
] | |
l—‘l 25 —I H
A
Frame 56H
P
='ll ______ \\‘ ’I[’ \\‘I BF v n n
AH
#BD 33 rAd > d
= S Ho- = HE=
) i~ A = = ] s
[ — o | [ e— s |
T,
— e T |" I—— ok BB
A L N—
ZBF BlA Ny
FC /
Cc

Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275*4934) B—67



Mechanical Data [up 1

TEFC - W22 NEMA Premium® Efficiency

Mounting Keyway Shaft Extension
Frame oF oF m BA A B C D G J 0 K P T 3 R S NW | U |
L 4,000 5.157 1236
I3l 5500 0.344 | 2.250 | 6.457 3500 1 3500 | 0354 | 1.437 | 7.122 7047 | - |o0187| 0765 |1575| 2.250 | 0.875
L1457 5.000 6142 14 566
1821 4.360
o 4500 5.945 (oot
IS 7500 2750 | 8661 S04 1 4500 0304|1594 | 9343 | - | 8740 0.250 | 0.984 [1.969 | 2.750 | 1.125
5.500 6.969 12
LigaT 7.041
0.406 1772
2131 8.021
L2137 5500 7362 149597
21311 8500 3500 | 9.764 527 5.250 1.088 | 10.841 10.669 0.313 | 1.203 | 2.480 | 3.375 | 1.375
L2157 7.000 8.8 150,905 0.827
254T 8.252 10.000 | 23213
10,000 4250 | 12.126 6.250 2.539 | 12.598 | 2.559 | 12.953 2.756 | 4.000
2561 10.000 11.732 [ 24.945 0.375 | 1.406 1.625
284TS 25.061 2.480 | 3.250
9.500 0.531 11.575 2.087
284T 26.433 0.500 | 1.504 | 3.149] 4622 | 1875
aapts | 1000 [—— 4750 | 13.780 S | 7.000 | 1023|3110 | 14.067 | 2874 | 14173 e R B I e
286T : 7.029 3.149] 4622
324TS 10500 18.071 55 120 1594 15786 3.750 | 87°
324T : 29.620 844 [ 3.037 | 5.250 | 2125
ot | 12900 [~ 0657 | 5250 | 15:157 | 505Te 8000 | 1.300| 3189 15953 | 3189 | 15827 | 2441 | 0500 5 845 555700 T 7
326T : 567 31116 844 [ 3.937] 5.250 | 2.125
364/5TS 32.276 591 | 1.068 3.748 | 1.875
oS 1 14.016 | 11.260/12.244 | 0.660 | 5875 | 17.165 | 16.220 [-S22151 9.000 | 1480 | 3150 | 17.957 | 4921 | 17.914 Lz |y ho0e) dras 18T
404/5TS 36.732 0.500 | 1.842 [ 2.756 | 4.250 | 2.125
oo 15.984 | 12.244/13.740 6:625 | 19.921 | 18386 [S07321 10,000 | 1811 19.566 | 5.669 | 19.134 R R R B B
444/5TS 41.200 0.625 | 2.021 [ 3.000] 4.750 | 2.375
444/5T 14.500/16.500 20.315 54950 1630 | 3.937 5866 0.875 | 2.880 | 7.087] 8.500 | 3.375
445/7TS 16.500/20.000 | 0.810 23.807 [-44:95 1654 22.795 23,563 0.625 1 2021 {30001 4.750 12.375
MSTT | o000 2500 | 21,92 48701 41 000 0.875 | 2.880 | 7.087] 8.500 | 3.375
771 Al Pw— ' : 52.588 | 11" oo 5602 0625 [ 2.021 [3.000] 4.750 | 2.375
447/9T 000725. 51 525 | 96.338 1630 : 0.875 | 2.880 | 7.087] 8.500 | 3.375
L447/9TS 535 53431 : 0.625 | 2.021 [3.000] 4.750 [ 2.375
L447/9T 20.000/25.000 57.181 3.937| 23874 | BT8O | - o5 0.875 | 2.880 | 7.087] 8.500 | 3.375
504/5TS 48.215 : 0.625 | 2.021 [ 3.000] 4.750 | 2.375
0ASTS | 20.000 | 16.000/18.000| 1.250 | 8.500 | 24.724 | 24.449 {02151 12,500 | 2.146 | 4.724 | 25.425 | 7.228 0625 | 2020 | 000) €790 | 2375
e Tamewm alon N
23,000 1.181 | 10.000 | 29.528 202 | 14500 | 2.492 | 5.512 | 28.985 28,977 : 312 18. : :
588/9TS 25.000/32.000 27 030 | 62,506 13080 0.625 | 2.021 [ 3.000] 4.750 | 2.375
588/0T 000732 980 50-381 : 1.000 | 3.312 | 8.661 | 11.625 | 3.875
Terminal Box Bearings
Frame AB HB HD HF HG HH HK L [ ™ AR a DE. N.D.E
e 4250
—LEST 1 6ast | 1728 3500 2638 4527 | 4004 | NPT3/4” 620522 | 620422
L145T 4.750
31%222 5.000
o2 | 7559 | 2236 4500 620722 | 620622
L184T 5500
3.110 5512 | 5236 | NPT1”
2131
12137 6.250
2131 | 583 | 3006 5.250 630822 | 620722
L215T 7.000 A4
AT 10304 | 3061 6.565 8.376 6309C3 | 6209C3
256T : : : 9.250
Zggf 9500 3.937 7.795 | 7.402 | NPT1 1/2”
10.984 | 3535 7.000 63113 | 6211¢C3
286TS 10.250
2867 :
ol 10.500
A 12480 | 4811 8.708 4645 8.976 | 8.543 | NPT2" 6312C3 | 6212¢C3
o 11.250
336;1/53 4.055 12.362 6314 C3
16.378 6.378 9646 [10.119] NPT3”
404/5TS 5.040 14213 6314 C3
404/57 : - : 6316 C3
A44I5TS | 1a385 | 5.304 15.748 5.787 11.811|11.890 6314 C3
444757 6319C3 | 631603
445/7TS e age1g | —SEAC3 | 6314 C8
445/7T 6319 C3 6316 C3
ol 20670 | 15078 | 27.401 | 25889 | 27.007 | 11.803 6.968 14646 | 15.040 praLs | oneos
a47/9T 6322C3 | 6319C3
L247/9TS , 6314C3_| 631403
AISTS | 23071 | 15078 | 27401 | 25889 | 27007 | 11500 8.464 15.906 | 17.244 | 2xNPT 3 I T
504/5TS 6314C3 | 6314C3
o 20670 | 15275 | 30305 | 24291 | 29409 | 10394 6.968 14.646 | 15.040 e | s
586/7TS 6314C3 | 6314C3
BOITTS | 23977 | 18149 | 35354 | 27.559 | 30.801 s 8.464 15.906 | 17.244 T e T
588/9TS : 12,519 (side mountedy/ UNC 3/4"-10 | _6314C3 | 6314C3
sgg/or | 27600 | 6063 | 35346 | 26182 | 33346 13.977(top mounted) | 44128740 UNC7/8-9 | 6322C3 | 6319C3
Note:

182T and 184T motors are not available in F-3 mounting.

B—68 Www.wegd. net Data subject to change without notice.



|iiE[| Mechanical Data

TEFC - W22 NEMA Premium® Efficiency continued

Frames 143T to 215T .

Frames 254T to 326T

Frames 364 to 444/5T

Frames 445/7T to 586/7T

Frame 588/9T

Data subject to change without notice

Can’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934) B-69



Mechanical Data [up 1

C & D Flanges Dimensions - Valid for Cast Iron TEFC and ODP - C-Flange additional detail

BF (holes)
Frame AJ AH BA BB BC
Quantity Thread
143/5 5.875 2.125 2.250 0.157 UNC 3/8”x16
182/4 2.625 2.750
ETSE— 0.125
213/5 7.250 3.125 3.500
254/6 3.750 4.250 UNC 1/2”x13
4
284/6T 4.375
—_— 9.000 4.750
284/6TS 3.000
324/6T 5.000
—_— 5.250
324/6TS 3.500
364/5T 5.625
EST— 11.000 5.875
364/5TS 3.500
404/5T 7.000
ET— 6.625
404/5TS 4.000
444/5T 8.250 0.250
444/5TS 4.500
E— 0.250
445/7T 8.250
E— 14.000 7.500 UNC 5/8”x11
445/7TS 4.500
E— 8
447/9T 8.250
447/9TS 4.500
504/5T 10.375
ET— 8.500
504/5TS 4.500
586/7T 11.375
S — 14.500
586/7TS 4.500
EE— 10.000
588/9T 11.375
588/9TS 4.500
D-Flange additional detail
BF (holes)
Frame AJ AK BA BB BD
Quantity Thread
143/5 2.250
182/4 10.000 9.000 2.750 0.197 11.000 0.562
213/5 3.500
254/6 4.250
284/6T 12.500 11.000 14.000 4
— 4.750
284/6TS 0.203
324/6T
— 5.250 18.000
320818 16.000 14.000
364/5T ' '
— 5.875 0.197 17.710
364/5TS
404/5T
EP——— 6.625 22.000
404/5TS
444/5T
444/5TS 0.828
— 1 20. .
445/7T 0.000 0.203
— ] 18.000 7.500 21.650
445/7TS
447/9T 8
447/9TS
504/5T
————— 22.000 8.500 24.800
504/5TS
586/7T
— 0.250
_ SB6/TTS_| 30.000 30.000 10.000 32.000
588/9T ' ' ’ '
588/9TS

B—70 Www.wegd. net Data subject to change without notice.



Mechanical Data
Rolled Steel - General Purpose - Three Phase - TEFC

[Weg

Frame P AB HK HB J 2E A H1 D G LL LM
143/5T 7.638 5.882 2.638 1.783 1.732 5.500 6.535 - 3.500 0.120 4.543 4.106
182/4T 9.435 6.696 2.629 2.784 1.299 7.500 8.661 - 4.500 0.167 4.563 4.090
213/5T 10.965 7.973 3.022 2.982 1.575 8.500 9.449 - 5.250 0.167 5.551 5.250
254/6T 13.180 9.448 3.645 3.631 1.693 10.000 11.417 - 6.250 0.187 6.299 6.017
Frame AA 0 T Hole H 2F B BA N-W ES 1] d1 S R
143/5T 1.118” 6.724 0.603 0.343 4.000/5.000 6.496 2.250 2.250 1.417 0.875 A3.15 0.187 0.771
182/4T 1.118” 8.557 0.661 0.406 4.500/5.500 6.299 2.750 2.750 1.969 1.125 A3.15 0.250 0.984
213/5T 1.3777 10.144 0.761 0.406 5.500/7.000 7.953 3.500 3.380 2.480 1.375 A4 0.313 1.203
254/6T 1.732” 12.010 0.83 0.530 8.252/10.000 11.417 4.250 4.000 2.756 1.625 A4 0.375 1.416
Frames 143
d1 5
-ES »
|
s R
|
BA —N-W
Frames 182
d1 N
ES «
|
= f—
‘ %
S R
N-W
Frame 213 to 256
d1 5
jn— i |
o - — = = y
s R
\
N-W
Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275’4934) B-71




Mechanical Data

[Weq

Rolled Steel - General Purpose - Three Phase - TEFC - continued

Dimensions for C-Face motors

Frame Size AJ AK BD BF BB AH Angle BF Number
143/5T FC-149 5.874 4.500 6.449 UNC 3/8”x16 0.157 2132 45° 4
182/4T FC-184 7.250 8.500 8.846 UNC 1/2"x13 0.250 2.620 45° 4
213/5T FC-184 7.250 8.500 9.401 UNC 1/2”x13 0.250 3.129 45° 4
254/6T FC-184 7.250 8.500 11.084 UNC 1/2”x13 0.250 3.750 45° 4
Frames 143
Frames 182
/
Il
/
/
AH
/
//_ dls ¥ 8
/ s s
/ —
/
m_i%
/ L BB
BA
Frame 213 to 254
/
I
/
N // — AH
/ X O
— s E—— < o
/ — . s
/ —1
/ —1
[ — ,
/ »L BB
-~ BA —
B—72 WWW.Weg.ﬂet Data subject to change without notice.



|iiE[| Mechanical Data

Rolled Steel - General Purpose - Three Phase - ODP

Frame A AA AB P 2E J HB HK Hi G D HD1
143/5T 6.535 1.118” 5.882 6.467 5.500 1.732 1.783 2.638 - 0.120 3.500 8.622
182/4T 8.661 1.118” 6.696 8.114 7.500 1.299 2.784 2.629 - 0.167 4.500 11.441
213/5T 9.449 1.377” 7.973 9.846 8.500 1.575 2.982 3.022 - 0.167 5.250 13.764
Frame HD2 LL LM 0 2F H B BA N-W ES 1] di R S
143/5T 8.150 4.543 4.106 6.724 4.000/5.000 0.343 6.496 2.250 2.250 1.417 0.875 A3.15 0.771 0.187
182/4T1 - 4.563 4.090 8.557 4.500/5.500 0.406 6.299 2.750 2.750 1.969 1.125 A3.15 0.984 0.250
213/5T - 5.551 5.250 10.144 5.500/7.000 0.406 7.953 3.500 3.380 2.480 1.375 A4 1.203 0.313
Frames 143
a1 N
rES » |
— =
‘ x
S R
—N-W
Frames 182
—rEs
I —
N-W
Frame 213 to 256
H
d1 5
—] T |
° =T T
= S
Fre—
F j- = N-W
L ——
c
Data subject to change without notice. Can't find what you are |OOking for? Call 1-800-ASK-4WEG (275’4934) B—73



Mechanical Data [up 1

ODP - Cast Iron - Three Phase - General Purpose

Frame 2E J A P AB 2F K B BA 1] di N-W
25417 10.000 2.520 12.130 11.812 10.079 8.250 2.560 10.100 4.250 1.625 Ad 4.000
256T 10.000 2.520 12.130 11.812 10.079 10.000 2.560 11.732 4.250 1.625 A 4.000

284TS 11.000 3.150 13.780 13.700 10.886 9.500 2.960 11.574 4.750 1.625 Ad 3.250
2841 11.000 3.150 13.780 13.700 10.886 9.500 2.960 11.574 4.750 1.625 A4 4.622

286TS 11.000 3.150 13.780 13.700 10.886 11.000 2.960 13.070 4.750 1.625 Ad 3.250
286T 11.000 3.150 13.780 13.700 10.886 11.000 2.960 13.070 4.750 1.875 Ad 4.622

32418 12.500 3.230 15.160 15.118 11.496 10.500 3.350 13.070 5.250 1.875 A4 3.750
3241 12.500 3.230 15.160 15.118 11.496 10.500 3.350 13.070 5.250 2.125 Ad 5.250

326TS 12.500 3.230 15.160 15.118 11.496 12.000 3.350 14.566 5.250 1.875 Ad 3.750
326T 12.500 3.230 15.160 15.118 11.496 12.000 3.350 14.566 5.250 2.125 A 5.250

364TS 14.000 3.150 17.170 17.874 16.378 11.250/12.250 4140 15.400 5.875 1.875 DUNC 3/4”-10 3.748
364T 14.000 3.150 17.170 17.874 16.378 11.250/12.250 4.140 15.400 5.875 2.375 DUNC 3/4”-10 5.874

365TS 14.000 3.150 17.170 17.874 16.378 11.250/12.250 4.140 15.400 5.875 1.875 DUNC 3/4”-10 3.748
365T 14.000 3.150 17.170 17.874 16.378 11.250/12.250 4.140 15.400 5.875 2.375 DUNC 3/4”-10 5.874

364/5TS 14.000 3.150 17.170 17.874 16.378 11.250/12.250 4.140 15.400 5.875 1.875 DUNC 3/4”-10 3.748

364/5T 14.000 3.150 17.170 17.874 16.378 11.250/12.250 4140 15.400 5.875 2.375 DUNC 3/4”-10 5.874

404TS 16.000 3.950 19.950 17.874 16.378 11.250/12.250 5.440 17.700 6.625 2.125 DUNC 3/4”-10 4.250
4041 16.000 3.950 19.950 17.874 16.378 12.250/13.750 5.440 17.700 6.625 2.875 DUNC 3/4”-10 7.250

404/5TS 16.000 3.950 19.950 17.874 16.378 12.250/13.750 5.440 17.700 6.625 2.125 DUNC 3/4”-10 4.250

404/5T 16.000 3.950 19.950 17.874 16.378 12.250/13.750 5.440 17.700 6.625 2.875 DUNC 3/4”-10 7.250

405TS 16.000 3.950 19.950 17.874 16.378 12.250/13.750 5.440 17.700 6.625 2125 DUNC 3/4”-10 4.250
405T 16.000 3.950 19.950 17.874 16.378 12.250/13.750 5.440 17.700 6.625 2.875 DUNC 3/4”-10 7.250

444TS 18.000 3.937 21.929 22.125 20.236 12.250/13.750 5.590 20.078 7.500 2.375 DUNC 3/4”-10 4.750
4441 18.000 3.937 21.929 22.125 20.236 12.250/13.750 5.590 20.078 7.500 3.375 DUNC 3/4”-10 8.500

445TS 18.000 3.937 21.929 22.125 20.236 14.500/16.500 5.590 20.078 7.500 2.375 DUNC 3/4”-10 4.750
44517 18.000 3.937 21.929 22.125 20.236 14.500/16.500 5.590 20.078 7.500 3.375 DUNC 3/4”-10 8.500

444/5T 18.000 3.937 21.929 22.125 20.236 14.500/16.500 5.590 20.078 7.500 3.375 DUNC 3/4”-10 8.500

Bearing

Frame ES S R D G 0 H C T LL LM AA

DE N-DE

2547 2.756 0.375 1.416 6.250 0.787 | 12.204 | 0.531 20.669 | 2.165 6.300 6.693 NPT 11/2” | 6309Z-C3 | 6209 Z-C3
256T 2.756 0.375 1.416 6.250 0.787 | 12.204 | 0.531 22.401 2.165 6.300 6.693 NPT 11/2” | 6309Z-C3 | 6209 Z-C3

284TS 2.480 0.375 1.416 7.000 1.102 13.858 | 0.531 22.000 | 2.165 6.300 6.693 NPT 11/2” | 63112-C3 | 6211Z-C3

2841 3.149 0.500 1.594 7.000 1.102 13.858 | 0.531 23.386 | 2.165 6.300 6.693 NPT 11/2” | 6311Z-C3 | 6211Z-C3

286TS 2.480 0.375 1.416 7.000 1.102 13.858 | 0.531 23504 | 2.165 6.300 6.693 NPT 11/2” | 63112-C3 | 6211Z-C3
286T 3.149 0.500 1.594 7.000 1.102 13.858 | 0.531 24882 | 2.165 6.300 6.693 NPT 11/2” | 6311Z-C3 | 62112-C3

32418 2.756 0.500 1.594 8.000 1.299 | 15.551 0.656 | 24.685 | 2.559 7.874 8.268 NPT 27 6312Z-C3 | 6212Z-C3
3241 3.937 0.500 1.844 8.000 1.299 | 15.551 0.656 | 26.181 2.559 7.874 8.268 NPT 2” 6312 2-C3 | 6212 Z-C3

326TS 2.756 0.500 1.594 8.000 1.299 | 15.551 0.656 | 26.181 2.559 7.874 8.268 NPT 27 6312Z-C3 | 6212Z-C3
326T 3.937 0.500 1.844 8.000 1.299 | 15.551 0.656 | 27.667 | 2.559 7.874 8.268 NPT 2” 6312 2-C3 | 6212 Z-C3

364TS 1.968 0.500 1.591 9.000 1480 | 18425 | 0657 | 27.638 | 2795 9.646 10.00 NPT 3” 6314 C3 6314 C3

3641 4.330 0.625 2.019 9.000 1.480 | 18425 | 0.657 | 29.764 | 2.795 9.646 10.00 NPT 3” 6314 C3 6314 C3

365TS 1.968 0.500 1.591 9.000 1.480 | 18.425 | 0.657 | 27.638 | 2.795 9.646 10.00 NPT 3” 6314 C3 6314 C3
365T 4.330 0.625 2.019 9.000 1.480 | 18425 | 0.657 | 29.764 | 2.795 9.646 10.00 NPT 3” 6314 C3 6314 C3

364/5TS 1.968 0.500 1.591 9.000 1.480 | 18425 | 0.657 | 27.638 | 2795 9.646 10.00 NPT 3” 6314 C3 6314 C3
364/5T 4.330 0.625 2.019 9.000 1.480 | 18425 | 0.657 | 29.764 | 2.795 9.646 10.00 NPT 3” 6314 C3 6314 C3
404TS 2.756 0.500 1.842 10.000 1.968 | 19.409 | 0.807 | 31.141 2.8 9.646 10.00 NPT 3” 6314 C3 6314 C3

40417 5.512 0.750 2.449 10.000 1.968 | 19.409 | 0.807 | 34.133 2.8 9.646 10.00 NPT 3” 6316 C3 6314 C3

404/5TS 2.756 0.500 1.842 10.000 1.968 | 19.409 | 0.807 | 31.141 2.8 9.646 10.00 NPT 3” 6314 C3 6314 C3
404/5T 5.512 0.750 2.449 10.000 1.968 | 19.409 | 0.807 | 34.133 2.8 9.646 10.00 NPT 3” 6316 C3 6314 C3
405TS 2.756 0.500 1.842 10.000 1.968 | 19.409 | 0.807 | 31.141 2.8 9.646 10.00 NPT 3” 6314 C3 6314 C3
405T 5.512 0.750 2.449 10.000 1.968 | 19.409 | 0.807 | 34.133 2.8 9.646 10.00 NPT 3” 6316 C3 6314 C3
444T1S 3.000 0.625 2.021 11.000 1.811 22440 | 0.807 | 36.062 | 3.544 14.291 14.921 2XNPT 3” 6314 C3 6314 C3

4447 7.087 0.875 2.880 11.000 1.811 22440 | 0.807 | 39.803 | 3.544 14.291 14.921 2XNPT 3” 6319 C3 6316 C3

445TS 3.000 0.625 2.021 11.000 1.811 22440 | 0.807 | 36.062 | 3.544 14.291 14.921 2XNPT 3” 6314 C3 6314 C3
445T 7.087 0.875 2.880 11.000 1.811 22.440 | 0.807 | 39.803 | 3.544 14.291 14.921 2XNPT 3” 6319 C3 6316 C3

444/5T 7.087 0.875 2.880 11.000 1.811 22440 | 0.807 | 39.803 | 3.544 14.291 14.921 2XNPT 3” 6319 C3 6316 C3

B—74 Www.wegd. net Data subject to change without notice.



|iiE[| Mechanical Data

ODP - Cast Iron - Three Phase - General Purpose- continued

Frame 254T to 447/9TS
AB ) T @
N/ ‘
T \\g 9// -
AA % ‘ % | . m N | O
ﬁEJ 2E iy - | 2F ?K; BA—=——N—W—=
A 5 J

Frame 5010/11T and 5010/11TS

HH

d1

HD

—ES

o5 i

il

2F BA N-W

Can'’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934) B-75

Data subject to change without notice.



Mechanical Data [up 1

Explosion Proof - Three Phase

Frame 2E 2F A AA AB B BA (4 D G Hole H J
1431 4.000 5.157 12.760
—  5.500 6.457 6.811 2.250 3.500 0.429 0.344 1.496
145T 5.000 6.142 13.752
NPT 3/4"
1821 4.500 5.945 14.862
—  7.500 8.661 8.240 2.750 4.500 0.787 1.890
1841 6.969 15.862
5.500 0.406
2131 7.402 17.952
— 8500 9.764 NPT 1" 9.252 3.500 5.250 0.827 2.008
215T 7.000 8.898 19.450
2541 8.252 10.000 23.175
—  10.000 12.126 11.063 4.250 6.250 0.817 2.520
256T 10.000 11.732 24.923
2841 26.407
E—— 9.500 NPT 11/2" 11.575 0.531
284TS 25.033
—  11.000 13.780 11.850 4.750 7.000 1.024 3.150
286T 27.905
— 11.000
286TS 26.531
13.071
3241 29.602
E— 10.500
324TS 28.102
— 12,500 15.157 NPT 2" 12.961 5.250 8.000 1.307 3.228
326T 31.106
E— 12.000 14.567 0.657
326TS 29.606
364/5T 33.701
— 14.000 11.250/12.250 | 17.165 15.394 5.875 9.000 1.480 3.150
364/5TS 31.575
NPT 3" 16.654
404/5T 38.074
— 16.000 12.250/13.752 | 19.921 17.520 6.625 10.000 1.812
404/5TS 35.074
444/51 43.797
] 14.500/16.500 21.732 20.079
444/5TS 40.047
E— 0.807 3.937
4477 47.339
— 18.000 20.000 21.929 23.640 7.500 11.000 1.630
447TS 43.589
E— 20.984
4497 54.996
E— 25.000 2xNPT 3" 32.126
449TS 51.246
504/5T 49.445
—  20.000 16.000/18.000 | 24.724 21.850 21.969 8.500 12.500 2.146 1.250 4.724
504/5TS 46.875
586/7T 61.389
— 23.000 22.000/25.000 | 29.528 25.787 29.921 10.00 14.500 2.492 1.181 5.236
586/7TS 54.514

B—76 Www.wegd. net Data subject to change without notice.



[Weg

Mechanical Data

TEFC - Explosion Proof continued
Frames 143T to 586/7TS

Shaft end Bearings
Frame K 0 P T
d1 ES N-w R S u D.E. N.D.E
1437
15T 1.654 7.000 7.000 * 1.575 2.250 0.765 0.187 0.875 6205 72 6204 72
182T
T84T 1.969 9.421 8.909 1.969 2.750 0.984 0.250 1.125 6307 22 6206 ZZ
1.772
213T
. 2.165 11.156 10.709 2.480 3.375 1.203 0.313 1.375 6308 22 6207 22
215
2547
2.559 12.352 2.087 2.756 4.000 1.406 0.375 1.625 | 63097Z-C3 | 6209 ZZ-C3
256T 12.224 Al
2841 3.149 4,622 1.594 0.500 1.875
284TS 2.480 3.250 1.406 0.375 1.625
2.953 14.362 2.441 63112Z-C3 | 6211 7Z-C3
286T 14.094 3.149 4.622 1.594 0.500 1.875
286TS 2.480 3.250 1.406 0.375 1.625
3247 3.937 5.250 1.844 2125
324TS 2.756 3.750 1.594 1.875
— 3.346 15.992 15.697 0.500 6312 7Z-C3 | 6212 7Z-C3
326T 3.937 5.250 1.844 2.125
326TS 279 2.756 3.750 1.594 1.875
795
364/5T 4.330 5.874 2.019 0.625 2.375
— 4134 18.898 6314 C3
364/5TS 1.968 3.748 1.591 0.500 1.875
18.583 6314 C3
404/5T 5.512 7.250 2.449 0.750 2.875 6217 C3
—— 5433 19.843
404/5TS 2.756 4.250 1.842 0.500 2125 6314 C3
444/5T 7.087 8.500 2.880 0.875 3.375 6219 C3 6316 C3
444/5TS 3.000 4.750 2.021 0.625 2.375 6314 C3 6314 C3
— 5591 DUNC 3/4"-10
4477 7.087 8.500 2.880 0.875 3.375 6319 C3 6316 C3
23.622 24.016
447TS 253 3.000 4.750 2.021 0.625 2.375 6314 C3 6314 C3
5
44917 T 104 7.087 8.500 2.880 0.875 3.375 6322 C3 6319 C3
449TS ' 3.000 4.750 2.021 0.625 2.375 6314 C3 6314 C3
504/5T 8.661 10.630 3.134 0.875 3.625 6319 C3
— 5984 25197 24.212 6316 C3
504/5TS 3.000 4.750 2.021 0.625 2.375 6316 C3
586/7T DUNC 7/8"-9 8.661 11.625 3.312 1000.000 3.875 6322 C3 6319 C3
— 7.874 30.428 30.709 4.291
586/7TS DUNC 3/4"-10 3.000 4.750 2.021 0.625 2.375 6314 C3 6314 C3
Frames 143T to 586/7TS
i P
AB |
‘ oy
i
( ;QJ ES S "
l
1
o
i U
I o
AA / \_
o —Hh = =
e J Hole H l l 1<K
| 2E | 2F BA—=t=— N—W—=1
A B
C
Data subject to change without notice. Can't find what you are |OOking for? Call 1-800-ASK-4WEG (275’4934) B—77



Mechanical Data
Fractional - Three Phase - TEFC - NEMA Premium®

Frame 2 J A P AB AH %F B BA CH u N-W Key R D
Length
48 4236 | 1.835 | 6142 | 6603 | 552 | 1.689 2.748 3.543 25 1417 | 05 15 126 | 0451 3
W56 | 4874 | 162 | 6535 | 6693 | 552 | 2.063 3 4016 | 275 | 1417 | 0625 | 1.874 | 1417 | 0517 35
56 4874 | 1732 | 6535 | 7.638 | 5882 | 2062 3 4016 | 275 | 1377 | 0625 | 1.874 | 1417 | 0517 35
56H | 4874 | 1732 | 6535 | 7.638 | 5.882 | 2062 | 3.000/5.000 | 6496 | 275 | 1377 | 0625 | 1.874 | 1.417 | 0517 35
Frame H1 G HB 0 HD HK | HoleH c LL LM s AA T DE NDE
48 122 | 0075 | 1559 | 583 | 6354 | 265 | 0.343 3835 | 3697 08817 | 0524 | 62037z | 620272
W56 1.22 012 | 2055 | 633 | 685 | 265 | 0343 3835 | 3697 | 0187 | 0.881” | 0.524 | 6203ZZ | 6202ZZ
56 1.22 012 | 1783 | 6724 | 7327 | 2638 | 0343 4543 | 4106 | 0187 | 0.881" | 0603 | 6203ZZ | 620222
56H 1.22 012 | 1783 | 6724 | 7327 | 2638 | 0343 4543 | 4106 | 0187 | 0.881" | 0603 | 6204727 | 620222
Frame 48
ES T%ﬂ
R
BA FN-W
I
Frame W56
-
% > di1
b %]
- o |
o a S
| | Lol
H oF BA -
I—— B — | W
FC
C

Frame 56 - 56H

B-78

www.weg.net

Data subject to change without notice.



[eg

Mechanical Data

Fractional - Three Phase - TEFC - NEMA Premium® - C-Face

Frame Type Flange Size AJ AK BD S T AH Angle BF Number
W56 C C FC-149 5.874 45 6.47 UNC 3/8"x16-2B 0.157 2.063 45° 4
48 C C FC-95 3.748 3 474 UNC 1/4”x20-2B 0.157 1.689 45° 4
56 C C FC-149 5.874 45 6.45 UNC 3/8”x16-2B 0.157 2.062 45° 4
56H C C FC-149 5.874 45 6.45 UNC 3/8"x16-2B 0.157 2.062 45° 4
Frame W56
l—— P
AB —I
‘ BF S
HK [
— 8AJ |
[ AH > d1
/ m ES Y »
— 8
‘\ _' ' N = a e
9 5 a S S = | R S
o = |
liing 1
m
T J H1 I__ 2F BA N-W
— 28 — B — | ¥
A FC
c
Frame 48
l— P
-
BF
I~ HK
— 8AJ
I 3 d1
v — °o —
\ 9 a R
o
| |
2 L, L
A
Frame 56/56H
p— LL —_—
= @g
P LS
AB AA
-
BF
—HK ¢ BD
Yy AH l
HES
— - %
\ 1
A
© 90" (=] l
m o
I
i |
| i,
J H1 N-W
A
Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275*4934) B—79



Mechanical Data

Fractional - Three Phase - TEFC - Standard Efficiency

Frame | 2E J A P AB AH %F B BA CH v di N-W Key R D
Length
48 | 4236 | 1.835 | 6.142 | 6693 | 552 | 1.689 2.748 3543 | 25 | 1417 | 05 | A315 | 15 126 | 0451 3
W56 | 4874 | 162 | 6535 | 6.693 | 552 | 2063 3 4016 | 275 | 1417 | 0625 | A3,15 | 1874 | 1417 | 0517 | 35
56 | 4874 | 1732 | 6535 | 7.638 | 5.882 | 2.062 3 4016 | 275 | 1377 | 0625 | A315 | 1874 | 1417 | 0517 | 35
56H | 4874 | 1732 | 6535 | 7.638 | 5.882 | 2.062 | 3.000/5.000 | 6496 | 275 | 1.377 | 0.625 | A3,15 | 1.874 | 1417 | 0517 | 35
Frame | H1 G HB 0 HD | HK | HoleH c LL LM AJ s AA T DE NDE
48 122 | 0075 | 1559 | 583 | 6354 | 2.65 | 0.343 - 3835 | 3697 | 5874 0.881” | 0524 | 62032Z | 62022z
W56 | 122 | 012 | 2055 | 633 | 6.854 | 2.65 | 0.343 - 3835 | 3697 | 3748 | 0.187 | 0.881” | 0524 | 62032Z | 62022Z
56 122 | 012 | 1783 | 6724 | 7.327 | 2.638 | 0.343 - 4543 | 4106 | 5874 | 0.187 | 0.881” | 0603 | 62032Z | 62022Z
56H 122 | o012 | 1783 | 6724 | 7.327 | 2.638 | 0.343 - 4543 | 4106 | 5874 | 0.187 | 0881” | 0603 | 620477 | 62022z
Frame 48
ES i'%ﬂ
R
LN-W
Frame W56
— HK
l—-—ES 2 dt
(%]
R: S
I '
s [T L A
J2E H1 2BF — BA N-W
A FC
Frame 56 - 56H c
di
S R

B-80

www.weg.net

Data subject to change without notice.



[eg

Mechanical Data

Fractional - Three Phase - TEFC - Standard Efficiency - C-Face

Frame Type Flange Size BB AJ AK BD S T AH Angle BF Number
W56 C C FC-149 0.157 5.874 45 6.47 UNC 3/8”x16-2B 0.157 2.063 45° 4
48 C C FC-95 0.157 3.748 3 474 UNC 1/4”x20-2B 0.157 1.689 45° 4
56 C C FC-149 0.157 5.874 45 6.45 UNC 3/8”x16-2B 0.157 2.062 45° 4
56H C C FC-149 0.157 5.874 45 6.45 UNC 3/8"x16-2B 0.157 2.062 45° 4
Frame W56
l—— P
"]
BF _—
HK
— BAJ
AH
i
L. x o
—l < m
\
\ 9 A a T -
; |
iiing Il
2 . u I__ .
e H1 23F = BAl N-W
A FC
c
Frame 48
l— P
BF
- HK
— BAJ
/ 3 d1
II‘\ __I %R
9 S a
(<]
| |
2 LT L
A
Frame 56/56H
P
AB
BF
—HK —9¢ BD
7 | d—— 3
(2]
1 | o ¥
\ i N
2 90" a | S R
m (]
I
i | \
| i,
J H1
A
Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275*4934) B—81



Mechanical Data |iiE[|

Fractional - Three Phase - ODP - Premium Efficiency

Frame 2E J A P AB AH 2F B BA CH 1} N-w Lt:(:gyth R D
48 ) 4.236 1.835 6.142 5.709 5.52 1.689 2.748 3.543 2.5 1.22 0.5 15 1.26 0.451 3
W56 4.874 1.62 6.535 5.709 5.52 2.063 3 4.016 2.75 1.22 0.625 1.874 1.417 0.517 35
56 4.874 1.732 6.535 6.456 3.323 2.062 3 4.016 2.75 1.377 0.625 1.874 1.417 0.517 35
56H 4.874 1.732 6.535 6.456 5.882 2.062 3.000/5.000 6.496 2.75 1.377 0.625 1.874 1.417 0.517 35

Frame H1 G HB 0 HD HK Hole H C LL LM S AA T DE NDE
48 1.22 0075 | 1.559 583 | 6.354 | 265 | 0.343 3.835 | 3.697 NPT 1/2 0524 | 620372 | 620272
W56 1.22 0.12 2.055 6.33 | 6.854 | 265 | 0.343 3835 | 3697 | 0187 | NPT1/2” 0524 | 620372 | 620272
56 1.22 0.12 1.784 6.724 6.728 2.629 0.343 4.563 4.09 0.187 NPT 1/2” 0.004 6203 ZZ | 6202 2Z
56H 1.22 0.12 1.783 6.724 6.728 2.638 0.343 4.543 4.106 0.187 NPT 1/2” 0.004 6204 ZZ | 620277
Frame 48
p

el
s d
) dedF H
Oﬂ = = R
(=) [ e [
(O] — —
| = =
N L
H1 I—— 2BF ;ll_l BAl FN-W
i
Frame W56
P
I
- 2
= o B@—— — - )
: (e [
=) (=) R s
= =
L 2BF i— BA| N=W
FC
c
Frame 56 - 56H
P
i
—ES
- Ho— — —h=f
—— [e—
— | em— j‘
H
2F | BA N-W
]
FC
c

B—82 www.weg.net Data subject to change without notice.



[eg

Mechanical Data

Fractional - Three Phase - ODP - Premium Efficiency - C-Face

Frame Type Flange Size AJ AK BD S T AH Angle BF Number
W56 C C FC-149 5.874 45 6.47 UNC 3/8”x16-2B 0.157 2.063 45° 4
48 C C FC-95 3.748 3 474 UNC 1/4”x20-2B 0.157 1.689 45° 4
56 C C FC-149 5.874 45 6.45 UNC 3/8”x16-2B 0.157 2.062 45° 4
56H C C FC-149 5.874 45 6.45 UNC 3/8”x16-2B 0.157 2.062 45° 4
Frame 48
P
—BF ——gB
| e ——‘
— oA _—[
— AH
= I____Es 2 d1
— — e o — — X QO
= n ©) s 8 1%
2 9 a — 1= T T R
% Iy =] =[]
[ ] ;,-{_\—grs
L
| J | | H1I & 2F :I_l_ BA N-W
l— 28— B — |
A FC
c
Frame W56
P
_BF BR
| — oA |
— — X O
l _|' < m
S e 9
9 a |
Il
[ 1] [ L
J H1 2F BA )
T 2E ] B __l | NV
A FC
c
Frame 56 - 56H
P |
BF
| 9 BD =]
AH | d1 s
= {
— 0— — -
g 5o s — b S R
o = = |
| [ e ] [ m—
l J 1] H1 I__ H—-L
2E 2F — ——BB
A 2F BA N-W
B ! |
FC ‘
Cc

Data subject to change without notice

Can’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934)

B-83



Mechanical Data

[ueq

Fractional - Three Phase - ODP - Standard Efficiency

Frame 2 J A P AB AH %F B BA CH u N-W Key R D
Length
48 4.236 1.835 6.142 5.709 5.52 1.689 2.748 3.543 25 1.22 05 15 1.26 0.451 3
W56 4874 1.62 6.535 5.709 5.52 2.063 3 4016 | 275 122 | 0625 | 1874 1.417 0.517 35
56 4.874 1.732 6.535 6.456 3.323 2.062 3 4016 | 275 | 1377 | 0625 | 1.874 1.417 0.517 35
56H 4.874 1.732 6.535 6.456 5.882 2,062 | 3.000/5.000 | 6.496 | 2.75 | 1.377 | 0625 | 1.874 1.417 0.517 35
Frame H1 G HB 0 HD HK Hole H (¥ LL LM S AA T DE NDE
48 1.22 0.075 1.559 5.83 6.354 2.65 0.343 3.835 3.697 NPT1/2” | 0524 | 6203ZZ | 620272
W56 1.22 0.12 2.055 6.33 6.854 2.65 0.343 3.835 3.697 0187 | NPT1/2” | 0524 | 62037Z | 620272
56 1.22 0.12 1.784 6.724 6.728 2.629 0.343 4,563 4.09 0.187 | NPT1/2” | 0.004 | 62037Z | 620222
56H 1.22 0.12 1.783 6.724 6.728 2.638 0.343 4.543 4.106 0.187 | NPT1/2” | 0.004 | 620477 | 62027Z
Frame 48
P
—ES a d1
— ° @ _____ =l
(e (e R
— e}
— —
I— 2F ——-D— BA -N-W
I—— B — |
FC
Cc
Frame W56
> d1
I————E LY )
- 4165 - - =
(e (e
(=] =] R S
— —
I_I: ZBF ;l_l—_l BAl N-W
FC
c
Frame 56 - 56H
B
uj dt s
= ?
o HO— —
S S S R
— [ — ) 1]
[ em— [ E
H
2F BA N-W
B |
FC
(o]

B-84

www.weg.net

Data subject to change without notice.



[eg

Mechanical Data

Fractional - Three Phase - ODP - Standard Efficiency - C-Face

Frame Type Flange Size AJ AK BD BB S T AH Angle BF Number
W56 C C FC-149 5.874 45 6.47 0.157 UNC 3/8"x16-2B 0.157 2.063 45° 4
48 C C FC-95 3.748 3 474 0.157 UNC 1/4”x20-2B 0.157 1.689 45° 4
56 C C FC-149 5.874 45 6.45 0.157 UNC 3/8”x16-2B 0.157 2.062 45° 4
56H C C FC-149 5.874 4.5 6.45 0.157 UNC 3/8"x16-2B 0.157 2.062 45° 4
Frame 48 P
—BF —— BB
el ]
— oA | —[
— AH
= ES 2 d1
J— —_— W — —_— — X a
(e [e=n ) (=n
2 9 a — == T T R
o — —imm
| _— —
|
|v| ||H1 |—|:2F:|13A N-W
— 28 — B — |
A FC
Cc
Frame W56
P
| o d1
g 7]
X O
< m
T T R s
Frame 56 - 56H
AH | dt s
l——-—ES »
—@ B — B — P=— " X
e —1= ° s R
— — = |
[ ] [
=
2F — —IL BB
2F BA N-W
B ! |
FC !
(o
Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275*4934) B—85



Mechanical Data [up 1

Cooling Tower Motors - Three Phase - TEFC

Frame 2E J A P AB AH %F B BA CH u N-W L;legth R D
1437 55 | 1437 | 6457 | 685 | 626 | 2125 4 5157 | 225 | 0708 | 0875 | 225 | 1575 | 0771 | 35
143/5T | 55 | 1437 | 6457 | 685 | 626 | 2125 | 4000/5000 | 6142 | 225 | 0708 | 0.875 | 225 | 1575 | 0771 | 35
1457 55 | 1437 | 6457 | 685 | 626 | 2125 5 6142 | 225 | 0708 | 0875 | 225 | 1575 | 0771 | 35
1821 75 | 1614 | 8661 | 8504 | 7.565 | 2.625 45 5945 | 275 | 122 | 1125 | 275 | 1969 | 0984 | 45
182/4T | 75 | 1614 | 8661 | 8504 | 7.565 | 2625 | 4.500/5500 | 6.969 | 275 | 122 | 1125 | 275 | 1969 | 0984 | 45
2137 85 | 1779 | 9764 | 10669 | 8667 | 3.125 55 7362 | 35 122 | 1375 | 3375 | 248 | 1203 | 525
213/5T | 85 | 1779 | 9764 | 10.669 | 8667 | 3.125 | 5500/7.000 | 8.858 | 35 122 | 1375 | 3375 | 248 | 1203 | 525
2157 85 | 1779 | 9764 | 10669 | 8667 | 3.125 7 8858 | 35 122 | 1375 | 3375 | 248 | 1203 | 525
2541 10 | 2539 | 12126 | 12.48 | 10483 | 3.75 8.252 10 425 | 185 | 1625 4 2756 | 1416 | 6.25
254/6T | 10 | 2539 | 12126 | 1248 | 10483 | 375 | 825210000 | 11.732 | 425 | 1.85 | 1.625 4 2756 | 1416 | 625
256T 10 | 2539 | 12126 | 12.48 | 10483 | 375 10 1732 | 425 | 185 | 1625 4 2756 | 1416 | 625
284TS " | 311 | 1378 | 1378 | 11073 | 3 95 11575 | 475 | 2244 | 1625 | 325 | 248 | 1416 7
284T 1| 31 | 1378 | 1378 | 11.073 | 4375 95 1575 | 475 | 2244 | 1875 | 4622 | 3149 | 1594 7
284/6T | 11 | 311 | 1378 | 1378 | 11.073 | 4375 | 9500/11.000 | 13071 | 475 | 2244 | 1.875 | 4622 | 3.149 | 1594 7
284/6TS | 11 | 311 | 1378 | 1378 | 11.073 | 3 9.500/11.000 | 13.071 | 475 | 2244 | 1625 | 325 | 248 | 1.416 7
324T | 125 | 3189 | 15.157 | 14961 | 12575 | 5 105 13071 | 525 | 2638 | 2125 | 525 | 3.937 | 1.844 8
324TS | 125 | 3.189 | 15.157 | 14961 | 12575 | 35 105 13071 | 525 | 2638 | 1.875 | 375 | 2756 | 1.594 8
324/6TS | 125 | 3.189 | 15.157 | 14961 | 12575 | 35 12 14567 | 525 | 2638 | 1.875 | 375 | 2756 | 1.594 8
324/6T | 125 | 3.189 | 15.157 | 14.961 | 12575 | 5 10.50012.000 | 14.567 | 525 | 2638 | 2125 | 525 | 3.937 | 1.844 8
326T | 125 | 3.189 | 15.157 | 14.961 | 12575 | 5 12 14567 | 525 | 2.638 | 2125 | 525 | 3937 | 1.844 8
326TS | 125 | 3.189 | 15.157 | 14.961 | 12.575 | 35 12 14567 | 525 | 2.638 | 1.875 | 375 | 2756 | 1.594 8
364/5T | 14.016 | 3.15 | 17.165 | 17.914 | 16.016 | 5625 | 11.260/12.244 | 15512 | 5875 | 3.189 | 2375 | 5874 | 433 | 2.019 9
364/5TS | 14.016 | 3.15 | 17.165 | 17.914 | 16.016 | 35 | 11.260/12.244 | 15512 | 5875 | 3.189 | 1.875 | 3.748 | 1968 | 1.591 9
404/5T | 15984 | 3.937 | 19.921 | 19.134 | 16.016 | 7 12.244/13.740 | 18.386 | 6625 | 3.189 | 2875 | 7.25 | 5512 | 2449 | 10
404/5TS | 15984 | 3.937 | 19.921 | 19.134 | 16.016 | 4 1224413740 | 18.386 | 6.625 | 3189 | 2125 | 425 | 2756 | 1842 | 10
444/5T | 18 | 3.937 | 21929 | 23583 | 1857 | 825 | 14.500/16.500 | 20315 | 7.5 | 3.583 | 3.375 | 85 | 7.087 | 2.88 1
444/5TS | 18 | 3.937 | 21920 | 23583 | 1857 | 45 | 14.500/16.500 | 20315 | 7.5 | 3.583 | 2.375 | 475 3 2.021 1
445/7T | 18 | 3.937 | 21929 | 23583 | 20.559 | 8.25 | 16.500/20.000 | 23.897 | 7.5 | 3583 | 3375 | 85 | 7.087 | 2.88 1
445/7TS | 18 | 3937 | 21929 | 23583 | 20559 | 45 | 16.500/20.000 | 23.897 | 75 | 3583 | 2.375 | 475 3 2.021 11
447/9T | 18 | 3.937 | 21929 | 23583 | 20.559 | 825 | 20.000/25.000 | 31535 | 7.5 | 3583 | 3375 | 85 | 7.087 | 2.88 11
447/9TS | 18 | 3.937 | 21920 | 23583 | 20559 | 45 | 20.000/25000 | 31535 | 7.5 | 3.583 | 2.375 | 475 3 2.021 11
L447/9T | 18 | 3937 | 21.929 | 25866 | 23.72 | 825 | 20.000/25.000 | 31.535 | 7.5 | 3583 | 3375 | 85 | 7.087 | 2.88 1
L447/9TS | 18 | 3937 | 21.929 | 25866 | 23.72 | 45 | 20.000/25000 | 31.535 | 7.5 | 3583 | 2375 | 4.75 3 2.021 1
504/5T | 20 | 4724 | 24724 | 25866 | 20.509 | 10.375 | 16.000/18.000 | 24.449 | 85 | 3.583 | 3625 | 1063 | 8661 | 3.134 | 125
504/5TS | 20 | 4724 | 24724 | 25.866 | 20599 | 45 | 16.000/18.000 | 24.449 | 85 | 3583 | 2.375 | 475 3 2021 | 125
586/7T | 23 | 5512 | 29528 | 28.977 | 23.189 | 11.375 | 22.000/25.000 | 20921 | 10 | 3.583 | 3.875 | 11.625 | 8661 | 3312 | 145
586/7TS | 23 | 5512 | 20528 | 28.977 | 23.189 | 45 | 22.000/25.000 | 29.921 | 10 | 3583 | 2.375 | 475 3 2021 | 145
588/9T | 23 | 5512 | 29528 | 28.977 | 27.44 | 11.375 | 28.000/32.000 | 37.98 | 10 | 3.583 | 3.875 | 11.625 | 8661 | 3312 | 145
588/9TS | 23 | 5512 | 20528 | 28.977 | 27.44 | 45 | 28.000/32.000 | 37.98 | 10 | 3.583 | 2.375 | 475 3 2021 | 145

continued on next page

B—86 Www.wegd. net Data subject to change without notice.



|iiE[| Mechanical Data

Cooling Tower Motors - Three Phase - TEFC - continued

Frame G HB 0 HD HF HH HK | Hole H c LL LM S AA T DE NDE
1431 0.354 | 1.787 | 7.122 35 425 | 2.638 | 0.344 | 12.346 | 4.528 | 4.094 | 0.187 NPT 3/4” 62052RS | 6204 2RS
143/5T | 0.354 | 1.787 | 7.122 35 475 | 2.638 | 0.344 | 13.358 | 4.528 | 4.094 | 0.187 NPT 3/4” 62052RS | 6204 2RS
145T 0.354 | 1.787 | 7.122 35 475 | 2.638 | 0.344 | 13.358 | 4.528 | 4.094 | 0.187 NPT 3/4” 62052RS | 6204 2RS
1821 0.394 | 2.236 | 9.343 | 11.115 45 5 315 | 0406 | 14.86 | 5512 | 5236 | 0.25 NPT 1” 1.772 | 62072RS | 6206 2RS
182/4T | 0.394 | 2.236 | 9.343 | 11.115 4.5 55 315 | 0406 | 1586 | 5512 | 5236 | 0.25 NPT 1” 1.772 | 62072RS | 6206 2RS
2137 0.669 | 2.985 | 10.508 | 12.613 | 5.25 6.25 315 | 0406 | 18.021 | 5512 | 5236 | 0.313 NPT 17 2105 | 63082RS | 6207 2RS
213/5T | 0.669 | 2.985 | 10.508 | 12613 | 5.25 7 315 | 0406 | 19.517 | 5512 | 5236 | 0.313 NPT 1” 2105 | 63082RS | 6207 2RS
215T 0.669 | 2.985 | 10.508 | 12.613 | 5.25 7 315 | 0406 | 19.517 | 5512 | 5236 | 0.313 NPT 1” 2105 | 63082RS | 6207 2RS
254T 0.827 | 3.061 | 12.598 | 14.685 | 6.565 | 8.376 | 3.976 | 0.531 | 23213 | 7.815 | 7.48 | 0.375 | NPT11/2" | 2.087 6309 6209
. . . . . . . ] . : : : ’ 2RS-C3 2RS-C3
254/6T | 0.827 | 3.061 | 12.598 | 14.685 | 6.565 925 | 3.976 | 0.531 | 24945 | 7.815 | 7.48 | 0.375 | NPT11/2” | 2.087 6309 6209
. X . X . . . - - : : : : 2RS-C3 2RS-C3
256T 0.827 | 3.061 | 12.598 | 14.685 | 6.565 925 | 3.976 | 0.531 | 24945 | 7.815 | 7.48 | 0375 | NPT11/2" | 2.087 6309 6209
. X . . . . . - - - : : ' 2RS-C3 2RS-C3
284TS 1.023 | 3.535 | 14.067 | 16.154 7 9.5 3976 | 0531 | 25061 | 7.815 | 7.48 | 0.375 | NPT11/2” | 2.087 6311 6211
. . . . - - - : : - : : 2RS-C3 2RS-C3
2847 1.023 | 3.535 | 14.067 | 16.154 7 9.5 3976 | 0531 | 26433 | 7.815 | 7.48 0.5 NPT 11/2” | 2.087 6311 6211
: . : . - . - - ‘ : - : 2RS-C3 2RS-C3
284/6T | 1.023 | 3.535 | 14.067 | 16.154 7 1025 | 3.976 | 0.531 | 27.929 | 7.815 | 7.48 0.5 NPT 11/2” | 2.087 6311 6211
. . : . . . . . . . . : 2RS-C3 2RS-C3
284/6TS | 1.023 | 3.535 | 14.067 | 16.154 7 10.25 | 3.976 | 0531 | 26.557 | 7.815 | 7.48 | 0.375 | NPT11/2” | 2.087 6311 6211
. . : . . X . . . . . : 2RS-C3 2RS-C3
3241 13 4811 | 15.953 | 18.394 | 8.708 105 | 4705 | 0.657 | 29.62 | 9.055 | 8.661 0.5 NPT 2” 2.441 6312 6212
. . . . . . . - - - : : ’ 2RS-C3 2RS-C3
324TS 13 4811 | 15.953 | 18.394 | 8.708 105 | 4705 | 0.657 | 28.12 | 9.055 | 8.661 0.5 NPT 2” 2.441 6312 6212
. . . . . . . . ) . I . . 2RS-C3 2RS-C3
324/6TS 13 4811 | 15.953 | 18.394 | 8.708 | 11.25 | 4.705 | 0.657 | 29.616 | 9.055 | 8.661 0.5 NPT 2” 2.441 6312 6212
. . . . . . . . I . I . - 2RS-C3 2RS-C3
324/6T 13 4811 | 15953 | 18.394 | 8.708 | 11.25 | 4.705 | 0.657 | 31.116 | 9.055 | 8.661 0.5 NPT 2” 2.441 6312 6212
. . . . . . . - : - : : ’ 2RS-C3 2RS-C3
326T 13 4811 | 15.953 | 18.394 | 8.708 | 11.25 | 4.705 | 0.657 | 31.116 | 9.055 | 8.661 0.5 NPT 2” 2.441 6312 6212
. . . . . . . - . - : : ’ 2RS-C3 2RS-C3
326TS 1.3 4811 | 15.953 | 18.394 | 8.708 | 11.25 | 4.705 | 0.657 | 29.616 | 9.055 | 8.661 0.5 NPT 2” 2.441 6312 6212
. . . . . . . - - - : : ’ 2RS-C3 2RS-C3
364/5T 148 | 4.251 | 17.957 | 21.535 11.988 | 6.024 | 0.66 | 34.251 | 10.591 | 11.267 | 0.625 NPT 3” 3.578 6314 6314
. . . . . . - . : : : ’ 2RS-C3 2RS-C3
364/5TS | 1.48 | 4.251 | 17.957 | 21.535 11.988 | 6.024 | 066 | 32276 | 10.591 | 11.267 | 0.5 NPT 3” 3.578 6314 C3 6314 C3
404/5T | 1.811 | 5252 | 19.566 | 23.11 13.496 | 6.024 | 0.81 39.73 | 10.591 | 11.267 | 0.75 NPT 3” 3.544 6316 6314
. . . . - : - - - - : : 2RS-C3 2RS-C3
404/5TS | 1.811 | 5.252 | 19.566 | 23.11 13.496 | 6.024 | 0.81 | 36.732 | 10.591 | 11.267 | 0.5 NPT 3” 3.544 6314 C3 6314 C3
444/5T 163 | 5.687 | 22.795 15.748 | 5.97 0.81 44,95 | 12.362 | 12.283 | 0.875 | 2xNPT3” 6319 C3 6316 C3
444/5TS | 1.63 | 5.687 | 22.795 15.748 | 5.97 0.81 412 | 12.362 | 12.283 | 0.625 | 2xNPT3” 6314 C3 6314 C3

445/7T | 1.654 | 12.488 | 22.795 | 27.527 | 20.724 | 11.811 | 6.929 | 0.81 | 48.701 | 14921 | 15.039 | 0.875 | 2xNPT3" | 4.732 6319 C3 6316 C3
445/7TS | 1.654 | 12.488 | 22.795 | 27.527 | 20.724 | 11.811 | 6.929 | 0.81 | 44.951 | 14.921 | 15.039 | 0.625 | 2xNPT3" | 4.732 6314 C3 6314 C3
447/9T 1.63 12.488 | 22.795 | 27.527 | 20.724 | 11.811 | 6.929 0.81 56.338 | 14.921 | 15.039 | 0.875 2xNPT 3” 4.732 6322 C3 6319 C3
447/9TS | 1.63 | 12.488 | 22.795 | 27.527 | 20.724 | 11.811 | 6.929 | 0.81 | 52.588 | 14.921 | 15.039 | 0.625 | 2xNPT3" | 4.732 6314 C3 6314 C3
L447/9T | 1.63 | 11.535 | 23.874 | 28.7 | 20.551 | 11.87 | 8.661 0.81 | 57.181 | 15.906 | 17.165 | 0.875 | 2xNPT3” | 4.826 6322 C3 6319 C3
L447/9TS | 1.63 | 11.535 | 23.874 | 28.7 | 20.551 | 11.87 | 8.661 0.81 | 53.431 | 15.906 | 17.165 | 0.625 | 2xNPT3” | 4.826 6314 C3 6314 C3
504/5T 1.87 | 15167 | 25.425 | 30.206 | 24.291 | 10.374 | 6.929 | 1.25 | 54.095 | 14.921 | 15.039 | 0.875 | 2xNPT3" | 4.781 6319 C3 6316 C3
504/5TS | 1.87 | 15.167 | 25.425 | 30.206 | 24.291 | 10.374 | 6.929 | 1.25 | 48.215 | 14.921 | 15.039 | 0.625 | 2xNPT3" | 4.781 6314 C3 6314 C3
586/7T | 2.492 | 18.575 | 28.985 | 35.74 | 26.732 | 13.346 | 8.661 | 1.181 | 61.902 | 15.906 | 17.165 1 2xNPT 3" | 6.755 6322 C3 6319 C3
586/7TS | 2.492 | 18.575 | 28.985 | 3574 | 26.732 | 13.346 | 8.661 | 1.181 | 55.027 | 15.906 | 17.165 | 0.625 | 2xNPT3” | 6.755 6314 C3 6314 C3
588/9T | 2.492 | 16.338 | 28.985 | 37.755 | 26.182 | 13.346 | 11.417 | 1.181 | 69.381 | 18.11 | 21.417 1 2xNPT 4” 8.77 6322 C3 6319 C3
588/9TS | 2.492 | 16.338 | 28.985 | 37.755 | 26.182 | 13.346 | 11.417 | 1.181 | 62.506 | 18.11 | 21.417 | 0.625 | 2xNPT 4" 8.77 6314 C3 6314 C3
Drawings found on B-88 and B-89 ‘

Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275’4934) B-87



Mechanical Data
Cooling Tower Motors - Three Phase - TEFC - continued

Frames 143 to 213/5

Frames 182 to 213/5

~—— HH

AB |

[a)
% (&
i jy — _‘ l T[T TTTi
|J Hole H l i:_:
2E
A B
Cc

Data subject to change without notice.

B-88 www.weg.net



|iiE[| Mechanical Data

Cooling Tower Motors - Three Phase - TEFC - continued

Frames 254 to 326

I P
——— AB
} [ HH
fus
— HK
S d1
~ES w
I__ __l o —| — led 0 -
w 3 S
I | 5 o
| £ | L O]
} Hi HH — NHH
Ly Hole H——H— K= o
2% — 2F ———pBA —N-W
A B |
¢

Frames 364/5 to 445/7

Frames 447/9 to 588/9

L —

LM

HG

Can'’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934) B-89

Data subject to change without notice.



Mechanical Data [up 1

Cooling Tower Motors - Three Phase - TEAO

Frame 2E J A P AB AH %F B BA CH u N-W L;f;’th R D
1437 55 | 1437 | 6457 | 685 | 626 | 2.125 4 5157 | 225 | 0708 | 0875 | 225 | 1575 | 0.771 35
143/5T | 55 | 1437 | 6457 | 6.85 | 626 | 2125 | 4.000/5.000 | 6142 | 225 | 0708 | 0875 | 225 | 1575 | 0771 35
1457 55 | 1437 | 6457 | 685 | 626 | 2.125 5 6142 | 225 | 0708 | 0875 | 225 | 1575 | 0.771 35
1821 75 | 1614 | 8661 | 8504 | 7.565 | 2.625 45 5945 | 275 122 | 1125 | 275 | 1969 | 0.984 45
182/4T | 75 | 1614 | 8661 | 8504 | 7.565 | 2.625 | 4.500/5500 | 6.969 | 2.75 122 | 1125 | 275 | 1969 | 0.984 45
2137 85 | 1.779 | 9.764 | 10.669 | 8.667 | 3.125 55 7.362 35 122 | 1375 | 3375 | 248 | 1203 | 525
213/5T | 85 | 1779 | 9.764 | 10.669 | 8.667 | 3.125 | 5500/7.000 | 8.858 35 122 | 1375 | 3375 | 248 | 1203 | 525
215T 85 | 1.779 | 9.764 | 10.669 | 8.667 | 3.125 7 8.858 35 122 | 1375 | 3375 | 248 | 1203 | 5.25
254T 10 | 2539 | 12126 | 1248 | 10.483 | 3.75 8.252 10 425 185 | 1625 4 2756 | 1416 | 6.25
254/6T | 10 | 2539 | 12126 | 12.48 | 10.483 | 3.75 | 8.252/10.000 | 11.732 | 425 185 | 1625 4 2756 | 1416 | 6.25
256T 10 | 2539 | 12126 | 12.48 | 10483 | 3.75 10 1732 | 425 185 | 1625 4 2756 | 1416 | 6.25
2847 1| 311 | 1378 | 13.78 | 11.073 | 4375 95 11575 | 475 | 2244 | 1875 | 4622 | 3149 | 1594 7
284TS " | 311 | 1378 | 1378 | 11.073 | 3 95 1575 | 475 | 2244 | 1625 | 3.25 248 | 1416 7
284/6T | 11 | 311 | 1378 | 13.78 | 11.073 | 4375 | 9.500/11.000 | 13071 | 475 | 2244 | 1.875 | 4622 | 3149 | 1594 7
284/6TS | 11 | 311 | 1378 | 1378 | 11.073| 3 | 9500/11.000 | 13.071 | 475 | 2244 | 1625 | 3.25 248 | 1416 7
324T | 125 | 3.189 | 15.157 | 14.961 | 12575 | 5 105 13071 | 525 | 2638 | 2125 | 525 | 3937 | 1.844 8
324TS | 125 | 3.189 | 15.157 | 14.961 | 12575 | 35 105 13071 | 525 | 2638 | 1875 | 375 | 275 | 1594 8
324/6T | 125 | 3.189 | 15.157 | 14.961 | 12575 | 5 | 10.500/12.000 | 14.567 | 525 | 2638 | 2125 | 525 | 3937 | 1.844 8
326T | 125 | 3.189 | 15157 | 14961 | 12575 | 5 12 14567 | 525 | 2638 | 2125 | 525 | 3937 | 1.844 8
326TS | 125 | 3.189 | 15.157 | 14.961 | 12575 | 35 12 14567 | 525 | 2638 | 1875 | 375 | 275 | 1594 8
364/5T | 14.016 | 3.15 | 17.165 | 17.914 | 16.016 | 5625 | 11.260/12.244 | 15512 | 5875 | 3.189 | 2375 | 5874 | 433 | 2019 9
364/5TS | 14.016 | 3.15 | 17.165 | 17.914 | 16.016 | 35 | 11.260/12.244 | 15512 | 5875 | 3189 | 1.875 | 3748 | 1968 | 1.591 9
404/5T | 15984 | 3.937 | 19.921 | 19.134 | 16.016 | 7 | 12.244/13.740 | 18.386 | 6.625 | 3.189 | 2.875 | 7.25 | 5512 | 2.449 10
404/5TS | 15984 | 3.937 | 19.921 | 19.134 | 16.016 | 4 | 12.244/13.740 | 18.386 | 6.625 | 3.189 | 2125 | 425 | 2756 | 1.842 10
444/5T | 18 | 3.937 | 21.929 | 23583 | 1857 | 8.25 | 14.500/16.500 | 20315 | 7.5 3583 | 3.375 8.5 7.087 | 288 1
444/5TS | 18 | 3937 | 21920 | 23583 | 1857 | 45 | 14500/16.500 | 20.315 | 7.5 3583 | 2375 | 475 3 2,021 11
445/7T | 18 | 3.937 | 21.929 | 23.583 | 20550 | 8.25 | 16.500/20.000 | 23.897 | 7.5 3583 | 3.375 85 7087 | 2.88 11
445/7TS | 18 | 3937 | 21.929 | 23583 | 20559 | 45 | 16.500/20.000 | 23.897 | 75 3583 | 2375 | 475 3 2,021 11
447/9T | 18 | 3.937 | 21.929 | 23583 | 20550 | 8.25 | 20.000/25.000 | 31535 | 7.5 3583 | 3.375 85 7087 | 2.88 11
447/9TS | 18 | 3937 | 21920 | 23.583 | 20559 | 45 | 20.000/25.000 | 31.535 | 75 3583 | 2375 | 475 3 2.021 1
L447/9T | 18 | 3937 | 21.929 | 25.866 | 23.72 | 8.25 | 20.000/25.000 | 31535 | 7.5 3583 | 3.375 8.5 7.087 | 288 1
L447/9TS | 18 | 3.937 | 21.929 | 25.866 | 2372 | 4.5 | 20.000/25.000 | 31535 | 7.5 3583 | 2375 | 475 3 2,021 11
504/5T | 20 | 4724 | 24.724 | 25.866 | 20.599 | 10.375 | 16.000/18.000 | 24.449 | 85 3583 | 3625 | 1063 | 8661 | 3134 | 125
504/5TS | 20 | 4724 | 24724 | 25.866 | 20599 | 45 | 16.000/18.000 | 24.449 | 85 3583 | 2375 | 475 3 2021 | 125
586/7T | 23 | 5512 | 20.528 | 28.977 | 23.189 | 11.375 | 22.000/25.000 | 29.921 10 3583 | 3.875 | 11.625 | 8661 | 3.312 | 145
586/7TS | 23 | 5512 | 20528 | 28.977 | 23189 | 45 | 22.000/25.000 | 29.921 10 3583 | 2375 | 475 3 2021 | 145
588/9T | 23 | 5512 | 29.528 | 28.977 | 27.44 | 11.375 | 28.000/32.000 | 37.98 10 3583 | 3.875 | 11.625 | 8661 | 3.312 | 145
588/9TS | 23 | 5512 | 20528 | 28.977 | 27.44 | 45 | 28.000/32.000 | 37.98 10 3583 | 2375 | 475 3 2021 | 145

continued on next page

B-QO Www.wegd. net Data subject to change without notice.



|iiE[| Mechanical Data

Cooling Tower Motors - Three Phase - TEAO - continued

Frame G HB 0 HF HH HK Hole H c LL LM S AA T DE NDE
1431 0.354 | 1.787 | 7.122 35 4.25 2638 | 0.344 | 12.353 | 4.528 | 4.094 | 0.187 NPT 3/4” 6205 2RS 6204 2RS
143/5T 0.354 | 1.787 | 7.122 35 4.75 2638 | 0.344 | 13.338 | 4.528 | 4.094 | 0.187 NPT 3/4” 6205 2RS 6204 2RS
145T 0.354 | 1.787 | 7.122 35 4.75 2638 | 0.344 | 13.338 | 4.528 | 4.094 | 0.187 NPT 3/4” 6205 2RS 6204 2RS
1821 0.394 | 2236 | 9.343 45 5 3.15 0.406 | 14.298 | 5512 | 5.236 0.25 NPT 17 1.772 6207 2RS 6206 2RS
182/4T 0.394 | 2236 | 9.343 45 55 3.15 0.406 | 15.298 | 5.512 | 5.236 0.25 NPT 1” 1.772 6207 2RS 6206 2RS
213T 0.669 | 2.985 | 10.508 | 5.25 6.25 3.15 0.406 | 17.239 | 5512 | 5236 | 0.313 NPT 17 2.105 6308 2RS 6207 2RS
213/5T 0.669 | 2985 | 10.508 | 5.25 7 3.15 0.406 | 18.739 | 5512 | 5236 | 0.313 NPT 17 2.105 6308 2RS 6207 2RS
215T 0.669 | 2.985 | 10.508 | 5.25 7 3.15 0.406 | 18.739 | 5512 | 5236 | 0.313 NPT 17 2.105 6308 2RS 6207 2RS

2541 0.827 | 3.061 | 12.598 | 6.565 | 8.376 | 3.976 | 0.531 | 21.594 | 7.815 7.48 0.375 NPT 11/2” 2.087 | 6309 2RS-C3 | 6209 2RS-C3

254/6T 0.827 | 3.061 | 12.598 | 6.565 | 9.25 3976 | 0.531 | 23.343 | 7.815 748 | 0.375 NPT 11/2” 2.087 | 6309 2RS-C3 | 6209 2RS-C3

256T 0.827 | 3.061 | 12.598 | 6.565 9.25 3976 | 0.531 | 23.343 | 7.815 7.48 0.375 NPT 11/2” 2.087 | 63092RS-C3 | 6209 2RS-C3

2841 1.023 | 3.535 | 14.067 7 9.5 3976 | 0.531 | 25.418 | 7.815 7.48 0.5 NPT 11/2” 2.087 | 63112RS-C3 | 6211 2RS-C3

284TS 1.023 | 3.535 | 14.067 7 9.5 3976 | 0.531 | 24.043 | 7.815 7.48 0.375 NPT 11/2” 2.087 | 63112RS-C3 | 6211 2RS-C3

284/6T 1.023 | 3.535 | 14.067 7 10.25 | 3.976 | 0.531 | 26.918 | 7.815 7.48 0.5 NPT 11/2” 2.087 | 63112RS-C3 | 6211 2RS-C3

284/6TS | 1.023 | 3.535 | 14.067 7 1025 | 3.976 | 0.531 | 25.543 | 7.815 7.48 0.375 NPT 11/2” 2.087 | 63112RS-C3 | 6211 2RS-C3

3241 13 4811 | 15953 | 8.708 10.5 4705 | 0.657 | 28.575 | 9.055 | 8.661 0.5 NPT 2” 2.441 6312 2RS-C3 | 6212 2RS-C3
324T1S 13 4.811 | 15.953 | 8.708 10.5 4.705 | 0.657 | 27.075 | 9.055 | 8.661 0.5 NPT 2” 2.441 6312 2RS-C3 | 6212 2RS-C3
324/6T 13 4811 | 15953 | 8.708 | 11.25 | 4.705 | 0.657 | 30.071 | 9.055 | 8.661 0.5 NPT 27 2.441

326T 13 4811 | 15953 | 8708 | 11.25 | 4.705 | 0.657 | 30.071 | 9.055 | 8.661 0.5 NPT 2” 2.441 6312 2RS-C3 | 6212 2RS-C3
326TS 13 4811 | 15953 | 8708 | 11.25 | 4.705 | 0.657 | 28.571 | 9.055 | 8.661 0.5 NPT 2” 2.441 6312 2RS-C3 | 6212 2RS-C3
364/5T 1.48 4251 | 17.957 11.988 | 6.024 0.66 29.39 | 10.591 | 11.267 | 0.625 NPT 3” 3.578 | 6314 2RS-C3 | 6314 2RS-C3

364/5TS 1.48 4251 | 17.957 11.988 | 6.024 0.66 | 30.319 | 10.591 | 11.267 0.5 NPT 3” 3.578 6314 C3 6314 C3
404/5T 1811 | 5252 | 19.566 13.496 | 6.024 0.81 | 36.415 | 10.591 | 11.267 | 0.75 NPT 3” 3.544 | 6316 2RS-C3 | 6314 2RS-C3
404/5TS | 1.811 | 5252 | 19.566 13.496 | 6.024 0.81 | 33.415 | 10.591 | 11.267 0.5 NPT 3” 3.544 6314 C3 6314 C3
444/5T7 1.63 5.687 | 22.795 15.748 | 5.97 0.81 | 39.878 | 12.362 | 12.283 | 0.875 2xNPT 3” 6319 C3 6316 C3
444/5TS 1.63 5.687 | 22.795 15.748 | 5.97 0.81 | 36.128 | 12.362 | 12.283 | 0.625 2xNPT 3” 6314 C3 6314 C3
445/7T 1.654 | 12.488 | 22.795 | 20.724 | 11.811 | 6.929 0.81 | 43.382 | 14.921 | 15.039 | 0.875 2xNPT 3” 4.732 6319 C3 6316 C3
445/7TS | 1.654 | 12.488 | 22.795 | 20.724 | 11.811 | 6.929 0.81 | 39.592 | 14.921 | 15.039 | 0.625 2xNPT 3” 4732 6314 C3 6314 C3
447/91 1.63 | 12.488 | 22.795 | 20.724 | 11.811 | 6.929 0.81 | 51.137 | 14.921 | 15.039 | 0.875 2xNPT 3” 4732 6322 C3 6319 C3
447/9TS 163 | 12.488 | 22.795 | 20.724 | 11.811 | 6.929 0.81 4723 | 14921 | 15.039 | 0.625 2xNPT 3” 4.732 6314 C3 6314 C3
L447/9T 163 | 11.535 | 23.874 | 20.551 | 11.87 | 8.661 0.81 15.906 | 17.165 | 0.875 2xNPT 3” 4.826 6322 C3 6319 C3
L447/9TS | 1.63 | 11.535 | 23.874 | 20.551 | 11.87 | 8.661 0.81 15.906 | 17.165 | 0.625 2xNPT 3” 4.826 6314 C3 6314 C3
504/5T 1.87 | 15.167 | 25.425 | 24.291 | 10.374 | 6.929 125 | 45.965 | 14.921 | 15.039 | 0.875 2xNPT 3” 4781 6319 C3 6316 C3
504/5TS 1.87 | 15.167 | 25.425 | 24.291 | 10.374 | 6.929 125 | 40.045 | 14.921 | 15.039 | 0.625 2xNPT 3” 4781 6314 C3 6314 C3
586/7T 2492 | 18,575 | 28.985 | 26.732 | 13.346 | 8.661 | 1.181 | 55.247 | 15.906 | 17.165 1 2xNPT 3” 6.755 6322 C3 6319 C3
586/7TS | 2.492 | 18.575 | 28.985 | 26.732 | 13.346 | 8.661 | 1.181 | 47.722 | 15.906 | 17.165 | 0.625 2xNPT 3” 6.755 6314 C3 6314 C3
588/9T 2.492 | 16.338 | 28.985 | 26.182 | 13.346 | 11.417 | 1.181 1811 | 21.417 1 2XNPT 4” 8.77 6322 C3 6319 C3
588/9TS | 2.492 | 16.338 | 28.985 | 26.182 | 13.346 | 11.417 | 1.181 18.11 | 21.417 | 0.625 2xNPT 4” 8.77 6314 C3 6314 C3

Drawings found on B-92

Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275’4934) B-91



Mechanical Data [up 1

Cooling Tower Motors - Three Phase - TEAO - continued

——
=] -

Frame 143 to 145

¥v8 o
‘I‘;\{:’@’;ﬂl‘

N '/" ‘\\‘
] é‘

o
[E
1]
=
I
]

/:
P E5=NEN

Frame 182 to 213/5

]
I
[

Frames 254 to 326

Frames 364 to 445/7

Frame 447/9 to 588/9

[— HH —
i
(g
d1
B B s Ty
o - _
f
R—+—H=—5
“L
] LZF ‘EA -W
— 2F
B
c

B—92 Www.wegd. net Data subject to change without notice.



|iiE[| Mechanical Data

CCP - UM - Three Phase - TEFC - Rolled Steel

Frame 2E J A P AB AH 2F B BA C CH 1} EL EM EP EQ
143/5JM | 55 | 1732 | 6.535 | 7.638 | 5873 | 4.267 | 4.000/5.000 6.496 2.75 1377 | 0875 | 1.156 1 1.179 0.63
182/40M | 75 | 1.299 | 8.661 9.435 | 6.696 | 4.258 | 4.500/5.500 6.299 35 1.377 | 0.875 1.25 1 1.376 0.63
213/5JM | 85 | 1.575 | 9.449 | 10.965 | 7.973 | 4.258 | 5.500/7.000 7.953 4.25 1.929 | 0.875 1.25 1 1.769 0.63
254/6JM 10 | 1.693 | 11.417 | 1318 | 9.448 525 | 8.252/10.000 | 11.417 4.75 1.929 | 1.249 1.75 1.375 | 1.769 0.63

Frame L(:(negyth ET R D G HB 0 HD HK Hole H LL LM S AA T DE NDE

143/5JM | 1575 | 2.88 | 0.771 | 35 | 012 | 1.784 | 6.724 | 7.327 | 2.629 | 0.343 | 4563 | 4.09 | 0.187 | 1.118” | 0.603 6206 22 6203 27
182/4JM | 1575 | 2.88 | 0.771 | 45 | 0.167 | 2.784 | 8557 | 9.218 | 2.629 | 0.406 | 4.563 | 4.09 | 0.187 | 1.118” | 0.661 6207 22 6205 77
213/5JM | 1575 | 2.88 | 0.771 | 525 | 0.167 | 2.982 | 10.144 | 10.905 | 3.022 | 0.406 | 5.551 | 525 | 0.187 | 1.377” | 0.761 6209 72 6206 27
254/6JM | 2.559 | 3.006 | 1.11 | 6.25 | 0.187 | 3.631 | 12.01 | 1284 | 3.645 | 0.53 | 6.299 | 6.017 | 0.25 | 1.732” | 0.83 | 6309Z-C3 | 6208 Z-C3

Frame Type Flange Size AJ AK BD S T AH Angle BF Number
143/5JM C C FC-149 5.874 45 6.45 UNC 3/8”x16 0.157 4.267 45° 4
182/4JM C C FC-149 5.874 45 6.496 UNC 3/8”x16 0.157 4.258 45° 4
213/5JM C C FC-184 7.25 8.5 9.401 UNC 1/2"x13 0.25 4.258 45° 4
254/6JM C C FC-184 7.25 8.5 11.084 UNC 1/2"x13 0.25 5.25 45° 4
Frame 143/5JM

P
} AB 4-‘
BF
=—HK | I
/ %d ?BD E
o 7 — %PB ¥
—]
i 3 90 2 = L
T Iz | 1 N
AT ]| =
J oH -~ 2F —~ BA

L—QE—J‘ B “
A FC
c
— ES —=f 5
2
| T u LY
o [} t 1
i
\ T ks : N\
S R
L
EQ
ET
AH

Drawings on next page

Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275’4934) B—93



Mechanical Data [up 1

CCP - JM - Three Phase - TEFC - Rolled Steel - continued
Frame 182/4JM

—
il AT =Y
'
 — o
2F  — ‘ - 88
2F BA -~
f— B . ‘
FC
C

— S ——

)

o EL —
8 EM —

EN— —

—~ 1 —

EQ

AH

Frames 213/5JM to 254/6JM

® BD

—9¢ AK

— ES —

— 12

EQ

AH

B-94 www.weg.net

Data subject to change without notice.



|iiE[| Mechanical Data

CCP - JM - Three Phase - TEFC - Cast Iron

Frame 2E J A P AB AH 2F B BA CH U d1 EL EM EP
143JM 55 1.437 6.457 7.047 6.26 4.258 4 5.157 2.56 0.719 0.874 | EUNC 3/8”-16 | 1.156 1 1179
143/5JM 55 1.437 6.457 7.047 6.26 4.258 4.000/5.000 6.142 2.56 0.719 0.874 | EUNC 3/8”-16 | 1.156 1 1179
145JM 55 1.437 6.457 7.047 6.26 4.258 5 6.142 2.56 0.719 0.874 | EUNC 3/8"-16 | 1.156 1 1179
182JM 7.5 1.614 8.661 8.74 7.565 | 4.258 4.5 5.945 2.75 1.337 0.874 | EUNC3/8"-16 | 1.25 1 1.376
184JM 7.5 1.614 8.661 8.74 7.565 | 4.258 55 6.969 2.75 1.337 0.874 | EUNC3/8"-16 | 1.25 1 1.376
182/4JM 75 1.614 8.661 8.74 7.565 | 4.258 4.500/5.500 6.969 2.75 1.337 0.874 | EUNC3/8”-16 | 1.25 1 1.376
213JM 8.5 1.779 9.764 10.669 | 8.606 | 4.258 55 7.362 35 1.22 0.874 | EUNC3/8”-16 | 1.25 1 177
213/5JM 8.5 1.779 9.764 10.669 | 8.606 | 4.258 5.500/7.000 8.858 3.5 1.22 0.874 | EUNC3/8”-16 | 1.25 1 1.77
215JM 8.5 1.779 9.764 10.669 | 8.606 | 4.258 7 8.858 35 1.22 0.874 | EUNC3/8”-16 | 1.25 1 1.77
254JM 10 2539 | 12126 | 12953 | 10.483 | 5.25 8.252 10 4.25 1.85 1.249 | EUNC1/2"-13 | 1.75 1.375 1.75
254JM 10 2539 | 12126 | 12.953 | 10.483 | 5.25 8.252 10 4.25 1.85 1.249 | EUNC1/2"-13 | 1.75 1.375 1.75
256JM 10 2539 | 12126 | 12953 | 10.483 | 5.25 10 11.732 | 425 1.85 1.249 | EUNC1/27-13 | 1.75 1.375 1.75
254/6JM 10 2539 | 12126 | 12.953 | 10.483 | 5.25 8.252/10.000 | 11.732 | 4.25 1.85 1.249 | EUNC1/2”-13 | 1.75 1.375 1.75
284JM 1 3.1 13.78 14173 | 11.073 | 5.25 9.5 11.575 | 475 2.244 1.249 | EUNC1/2”-13 | 1.75 1375 | 2.163
284/6JM 1 31 13.78 14173 | 11.073 | 525 9.500/11.000 | 13.071 | 4.75 2.244 1.249 | EUNC1/2”-13 | 1.75 1375 | 2163
286JM 1 3.1 13.78 14173 | 11.073 | 5.25 il 13.071 | 475 2.244 1.249 | EUNC1/2"-13 | 1.75 1375 | 2163
324JM 125 | 3.189 | 15157 | 15.827 | 12575 | 5.25 10.5 13.071 | 5.25 2.638 1.249 | EUNC1/2"-13 | 1.75 1.375 2.36
324/6JM 125 | 3.189 | 15.157 | 15.827 | 12.575 | 5.25 | 10.500/12.000 | 14.567 | 5.25 2.638 1.249 | EUNC1/27-13 | 1.75 1.375 2.36
326JM 125 | 3.189 | 15.157 | 15.827 | 12575 | 5.25 12 14.567 | 5.25 2.638 1.249 | EUNC1/2”-13 | 1.75 1.375 2.36
364/5JM | 14.016 | 3.15 17.165 | 17.914 | 16.016 | 525 | 11.260/12.244 | 15.512 | 5.875 | 3.189 1.249 | EUNC1/2”-13 | 1.75 1.375 | 2.756

Frame EQ ET R D HB 0 HH HK Hole H C LL LM S T DE NDE
143JM 0.63 288 | 0768 | 35 | 1.787 | 7.122 425 | 2638 | 0.344 | 14691 | 4528 | 4.094 | 0.187 6206 22 6204 77
143/5JM | 0.63 288 | 0767 | 35 | 1.787 | 7.122 475 | 2638 | 0.344 | 15675 | 4.528 | 4.094 | 0.187 6206 22 6204 77
145JM 0.63 288 | 0767 | 35 | 1.787 | 7.122 475 | 2638 | 0.344 | 15675 | 4.528 | 4.094 | 0.187 6206 22 6204 77
182JM 0.63 288 | 0768 | 45 | 2236 | 9.343 5 3.15 | 0.406 | 16.412 | 5512 | 5236 | 0.187 | 1.772 6307 22 6206 27
184JM 0.63 288 | 0768 | 45 | 2236 | 9.343 5.5 315 | 0406 | 17.411 | 5512 | 5236 | 0.187 | 1.772 6307 ZZ 6206 ZZ
182/4JM | 0.63 288 | 0768 | 45 | 2236 | 9.343 5.5 315 | 0406 | 17.411 | 5512 | 5236 | 0.187 | 1.772 6307 ZZ 6206 ZZ

213JM 0.63 288 | 0768 | 525 | 2.985 | 10.508 6.25 315 | 0406 | 18.852 | 5512 | 5236 | 0.187 | 2.105 | 6309 Z-C3 6207 22
213/5JM | 0.63 288 | 0.768 | 525 | 2.985 | 10.508 7 315 | 0406 | 20.392 | 5512 | 5236 | 0.187 | 2.105 | 6309 Z-C3 6207 22
215JM 0.63 288 | 0768 | 525 | 2.985 | 10.508 7 315 | 0406 | 20.392 | 5512 | 5236 | 0.187 | 2.105 | 6309 Z-C3 6207 22

254JM 0.63 | 3.006 | 111 | 6.25 | 3.061 | 12.598 | 8.376 | 3.976 | 0.531 | 24.478 | 7.815 7.48 0.25 2.087 6309 C3 6209 C3
254JM 0.63 | 3.006 | 111 | 6.25 | 3.061 | 12.598 | 8.376 | 3.976 | 0.531 | 24.478 | 7.815 7.48 0.25 2.087 6309 C3 6209 C3
256JM 063 | 3.006 | 1.11 | 6.25 | 3.061 | 12.598 925 | 3976 | 0.531 | 26.226 | 7.815 7.48 0.25 2.087 6309 C3 6209 C3
254/6JM | 063 | 3.006 | 1.11 | 6.25 | 3.061 | 12.598 925 | 3976 | 0.531 | 26.226 | 7.815 7.48 0.25 2.087 6309 C3 6209 C3
284JM 063 | 3.006 | 1.11 7 3.535 | 14.067 9.5 3976 | 0.531 | 27.165 | 7.815 7.48 0.25 2.087 6311 C3 6211 C3
284/6JM | 0.63 | 3.006 | 1.11 7 3.535 | 14.067 | 10.25 | 3.976 | 0.531 28.7 7.815 7.48 0.25 2.087 6311 C3 6211 C3
286JM 0.63 | 3.006 | 1.11 7 3.535 | 14.067 | 10.25 | 3.976 | 0.531 28.7 7.815 7.48 0.25 2.087 6311 C3 6211 C3
324JM 0.63 | 3.006 | 1.11 8 4.811 | 15.953 105 | 4705 | 0.657 | 28.149 | 9.055 | 8.661 0.25 2.441 6312 C3 6212 C3
324/6JM | 0.63 | 3.006 | 1.11 8 4811 | 15953 | 11.25 | 4705 | 0.657 | 29.645 | 9.055 | 8.661 0.25 2.441 6312 C3 6212 C3
326JM 063 | 3.006 | 1.1 8 4811 | 15953 | 11.25 | 4705 | 0.657 | 29.645 | 9.055 | 8.661 0.25 2.441 6312 C3 6212 C3
364/5JM | 0.63 | 3.006 | 1.11 9 4251 | 17.716 | 11.988 | 6.024 | 0.66 | 33.832 | 10.591 | 11.267 | 0.25 3.819 6314 C3 6314 C3

continued on next page

Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275’4934) B-95



Mechanical Data [up 1

CCP - JM - Three Phase - TEFC - Cast Iron - continued

Frame Type Flange Size AJ AK BD S T AH Angle BF Number
143JM C C FC-149 5.874 45 6.496 UNC 3/8”x16 0.157 4.258 45° 4
145JM C C FC-149 5.874 45 6.496 UNC 3/8”x16 0.157 4.258 45° 4
143/5JM C C FC-149 5.874 45 6.496 UNC 3/8”x16 0.157 4.258 45° 4
182JM C C FC-149 5.874 45 6.496 UNC 3/8”x16 0.157 4.258 45° 4
184JM C C FC-149 5.874 45 6.496 UNC 3/8”x16 0.157 4.258 45° 4
182/4JM C C FC-149 5.874 45 6.496 UNC 3/8”x16 0.157 4.258 45° 4
213JM C C FC-184 7.252 8.5 8.858 UNC 1/2"x13 0.248 4.258 45° 4
213/5JM C C FC-184 7.252 8.5 8.858 UNC 1/2"x13 0.248 4.258 45° 4
215JM C C FC-184 7.252 8.5 8.858 UNC 1/2"x13 0.248 4.258 45° 4
254JM C C FC-184 7.252 85 8.858 UNC 1/2"x13 0.248 5.25 45° 4
256JM C C FC-184 7.252 8.5 8.858 UNC 1/2"x13 0.248 5.25 45° 4
254/6JM C C FC-184 7.252 8.5 8.858 UNC 1/2"x13 0.248 5.25 45° 4
284JM C C FC-279 11 12.5 13.593 UNC 5/8”"x11 0.248 5.25 45° 4
286JM C C FC-279 11 12.5 13.593 UNC 5/8”x11 0.248 5.25 45° 4
284/6JM C C FC-279 11 12.5 13.593 UNC 5/8”x11 0.248 5.25 45° 4
324JM C C FC-279 11 12.5 13.593 UNC 5/8”x11 0.248 5.25 45° 4
326JM C C FC-279 11 12.5 13.593 UNC 5/8”x11 0.248 5.25 45° 4
324/6JM C C FC-279 11 12.5 13.593 UNC 5/8”x11 0.248 5.25 45° 4
364/5JM c C FC-279 11 12.5 15.562 UNC 5/8”x11 0.248 5.25 45° 8

Frames 143JM to 215JM

BF ~—— HH —

HK
e [
o sA)
7 ° 1 — 20 ;i 8
. 9 < T"
[=]
gy
i [ Y
E Ly voe wlL x S A
% A N-W
A c
% — ES — 5
[ . %}
' [ [,
B Hald— — =3 A N—
- -3 1 AN
i a - |
% q Al -
EQ N
2y
AH

B—96 Www.wegd. net Data subject to change without notice.



|iiE[| Mechanical Data

Frames 254JM to 326JM

—— HH —

———

(K = I |
— 1) _:%E— <5
K_(l L T -
- —H-—-BB
2F —-| BC
‘ | 2F |BA W
B —I
Cc
=)
[ o % |
& 15 I __..___.+__|. : —/Q( \
. ® T T A\
: [ a T =
% q A -l - '
£ — T2 —+
ET
AH
Frame 364/5JM
-
(—— HH ———

o

|

|.:§|
l—9 AK ——
‘\~——¢ BD —

K
' (@)
—1—BB
-] [

K — 2F :l_| —r—BC
2F BA —
B | W
c

—6 EP

T
| q
|
'I'_
n

o1 -

B

m
0
=

Data subject o change without notice. Can't find what you are looking for? Call 1-800-ASK-4WEG (275-4934) B-97



Mechanical Data

CCP - JP - Three Phase - TEFC - Rolled Steel

Frame 2E J A P AB AH 2F B BA CH U d1 EL EM. EP
143/5JP 55 1732 | 6535 | 7.638 | 5.873 | 7.319 4.000/5.000 6.496 2.75 1.377 | 0.875 EUNC 3/8”-16 1.156 1 1.179
182/4JP 75 1.299 | 8.661 9.435 | 6.69 | 7.319 4.500/5.500 6.299 35 1.377 | 0.875 EUNC 3/8”-16 1.25 1 1.376
213/5JP 8.5 1575 | 9.449 | 10.965 | 7.973 8.13 5.500/7.000 7.953 425 1.929 1.25 EUNC 1/27-13 1.75 1.375 | 1.769
254/6JP 10 1.693 | 11.417 | 13.18 9.448 8.13 8.252/10.000 | 11.417 4.75 1.929 1.249 EUNC 1/27-13 1.75 1.375 1.769
Frame Key ET Width R D G HB 0 HK Hole H LL LM S AA T DE NDE
Length
143/5JP 1.654 5941 | 0.187 | 0.771 35 012 | 1.784 | 6.724 | 2.629 0.343 4563 | 4.09 | 0.187 | 1.118” | 0.603 6206 ZZ 6203 Z2Z
182/4JP 1.654 5.941 | 0.187 | 0.771 45 | 0167 | 2.784 | 8557 | 2.629 0.406 4563 | 4.09 | 0.187 | 1.118” | 0.661 6207 2 6205 77
213/5JP 2.56 5.886 | 0.25 1.1 525 | 0.167 | 2.982 | 10.144 | 3.022 0.406 5.551 5.25 0.25 | 1.377" | 0.761 6209 727 6206 Z2Z
254/6JP | 2.559 5.886 | 0.25 1.1 6.25 | 0.187 | 3.631 12.01 3.645 0.53 6.299 | 6.017 | 025 | 1.732" 0.83 6309 Z-C3 | 6208 Z-C3
Frame Type Flange Size BB AJ AK BD S T AH Angle BF Number
143/5JP C C FC-149 0.157 5.874 45 6.45 UNC 3/8”x16 0.157 7.319 45° 4
182/4JP C C FC-149 0.157 5.874 45 6.496 UNC 3/8”x16 0.138 7.319 45° 4
213/5JP C C FC-184 0.25 7.25 85 9.401 UNC 1/2"x13 0.25 8.13 45° 4
254/6JP C C FC-184 0.25 7.25 85 11.084 UNC 1/27x13 0.25 8.13 45° 4
Frames 143/5JP
P
‘ AB —
BF
=—HK
#BD
It~
NS
O 90 o a
m — (&}
.
1 l ]L
«—u J M%H 2F  —== BA
(B p— ‘ 5 — |
A FC
C

B-98

¢ EL

o EM —

www.weg.net

EQ

ET

EN

AH

1]

» *T*S
2)

Data subject to change without notice.



|iiE[| Mechanical Data

CCP - JP - Three Phase - TEFC - Rolled Steel - continued

Frames 182/4JP

~¢ AK

~—o BD

— ES ——

P
) —
s EL —|
e EM
i
=
f
EN -
<H_S
AN
B

- 12

EQ

AH

Frames 213-254/6JP

¢ AK
¢ BD

Data subject to change without notice. Can’t find what you are |OOking for? Call 1-800-ASK-4WEG (275’4934) B-99



Mechanical Data [up 1

CCP - JP - Three Phase - TEFC - Cast Iron

Frame | 2E J A P AB AH %F B BA CH U EL EM EP EQ L;Ie;’m
143JP | 55 | 1437 | 6457 | 7.047 | 626 | 7.319 4 5157 | 256 | 0719 | 0874 | 1156 | 1 | 1.179 | 1.563 | 1.654
143/50P | 55 | 1437 | 6457 | 7.047 | 626 | 7319 | 4.000/5000 | 6.142 | 2.56 | 0.719 | 0874 | 1156 | 1 | 1.179 | 1.563 | 1.654
1450 | 55 | 1437 | 6457 | 7.047 | 626 | 7319 5 6142 | 256 | 0719 | 0874 | 1156 | 1 | 1.179 | 1.563 | 1.654
1820P | 75 | 1614 | 8661 | 874 | 7.565 | 7.319 45 5945 | 275 | 1337 | 0874 | 125 1| 1376 | 1563 | 1.575
182/40p | 75 | 1614 | 8661 | 874 | 7.565 | 7.319 | 4.500/5.500 | 6.969 | 2.75 | 1.337 | 0.874 | 1.25 1 | 1376 | 1563 | 1.575
2130P | 85 | 1.779 | 9764 | 10.669 | 8.606 | 8.13 55 7362 | 35 | 122 | 1249 | 175 | 1375 | 177 | 2382 | 248
213/50P | 85 | 1.779 | 9764 | 10669 | 8.606 | 813 | 5.500/7.000 | 8.858 | 35 | 122 | 1249 | 175 | 1375 | 177 | 2382 | 2.48
2150P | 85 | 1.779 | 9764 | 10.669 | 8.606 | 8.13 7 8858 | 35 | 122 | 1249 | 175 | 1.375 | 177 | 2382 | 248
2540P | 10 | 2.539 | 12126 | 12.953 | 10.483 | 8.13 8.252 10 | 425 | 185 | 1249 | 175 | 1375 | 177 | 2382 | 2.48
254/60P | 10 | 2539 | 12.126 | 12.953 | 10.483 | 8.13 | 8.252/10.000 | 11.732 | 425 | 185 | 1.249 | 175 | 1375 | 177 | 2382 | 2.48
2560P | 10 | 2539 | 12.126 | 12.953 | 10.483 | 8.13 10 1.732 | 425 | 185 | 1249 | 175 | 1375 | 177 | 2382 | 248
2840P | 11 | 311 | 1378 | 14173 | 11.073 | 8.13 95 11575 | 475 | 2244 | 1249 | 175 | 1375 | 2163 | 2.382 | 248
284/60P | 11 | 311 | 1378 | 14173 | 11.073 | 813 | 9.500/11.000 | 13.071 | 475 | 2244 | 1249 | 175 | 1375 | 2.163 | 2382 | 2.8
3240P | 125 | 3.189 | 15157 | 15.827 | 12.575 | 8.13 105 13.071 | 525 | 2638 | 1249 | 1.75 | 1.375 | 2.36 | 2.402 | 2.48
3260P | 125 | 3.189 | 15157 | 15.827 | 12.575 | 8.13 12 14567 | 525 | 2638 | 1249 | 175 | 1.375 | 2.36 | 2.402 | 2.48
324/60P | 125 | 3189 | 15.157 | 15.827 | 12575 | 8.13 | 10.500/12.000 | 14.567 | 525 | 2638 | 1.249 | 175 | 1375 | 2.36 | 2402 | 2.48
364/50P | 14.016 | 3.15 | 17.165 | 17.914 | 16.016 | 8.13 | 11.260/12.244 | 15512 | 5875 | 3189 | 1.624 | 2125 | 175 | 2756 | 2382 | 2.48
404/50P | 15.984 | 3937 | 19.921 | 19.134 | 16.016 | 8.13 | 12.244/13.740 | 18.386 | 6.625 | 3.189 | 1.624 | 2125 | 175 | 2756 | 2382 | 2.48

Hole

Frame ET R D G HB 0 HH HK H (H LL LM S AA DE NDE
143JP 5.941 | 0.768 35 0.354 | 1.787 | 7.122 4.25 2.638 | 0.344 | 17.752 4.528 4094 | 0.187 | NPT 3/4” 6206 ZZ 6204 77
143/5JP | 5.941 | 0.768 35 0.354 | 1.787 | 7.122 4.75 2.638 | 0.344 | 18.736 4.528 4094 | 0.187 | NPT3/4” 6206 22 6204 77
145JP 5941 | 0.768 35 0.354 | 1.787 | 7.122 4.75 2.638 | 0.344 | 18.736 4.528 4,094 | 0.187 | NPT 3/4” 6206 22 6204 77
182JP 5941 | 0.768 45 0.394 | 2.236 | 9.343 5 3.15 | 0.406 | 19.475 5.512 5236 | 0.187 NPT 17 6307 72 6206 ZZ
182/4JP | 5.941 | 0.768 4.5 0.394 | 2.236 | 9.343 5.5 3.15 | 0.406 | 20.475 5.512 5.236 | 0.187 NPT 17 6307 ZZ 6206 ZZ
213JP 5.886 | 1.11 525 | 0.669 | 2.985 | 10.508 6.25 3.15 | 0.406 | 22.804 5.512 5.236 0.25 NPT 17 6309Z-C3 | 6207 ZZ
213/5JP | 5.886 | 1.1 525 | 0.669 | 2.985 | 10.508 7 3.15 | 0.406 | 24.264 5.512 5.236 0.25 NPT 17 6309Z-C3 | 6207 ZZ
215JP 5.886 | 1.11 525 | 0.669 | 2.985 | 10.508 7 3.15 | 0.406 | 24.264 5.512 5.236 0.25 NPT 17 6309z-C3 | 6207 ZZ

254JP 5.886 | 1.11 6.25 | 0.827 | 3.061 | 12598 | 8.376 | 3.976 | 0.531 | 27.358 7.815 7.48 0.25 | NPT11/2” 6309 C3 6209 C3

254/6JP | 5886 | 1.11 6.25 | 0.827 | 3.061 | 12.598 9.25 3.976 | 0.531 | 29.106 7.815 7.48 0.25 | NPT11/2” 6309 C3 6209 C3

256JP | 5.886 | 1.11 6.25 | 0.827 | 3.061 | 12.598 9.25 3.976 | 0.531 | 29.106 7.815 7.48 025 | NPT11/2” 6309 C3 6209 C3

284JP | 5.886 | 1.11 7 1.023 | 3.535 | 14.067 9.5 3.976 | 0.531 | 30.079 7.815 7.48 025 | NPT11/2” 6311 C3 6211 C3

284/6JP | 5886 | 1.1 7 1.023 | 3.535 | 14.067 | 10.25 | 3.976 | 0.531 | 31.575 7.815 7.48 0.25 | NPT11/2” 6311 C3 6211 C3
324JP 5906 | 1.1 8 13 4.811 | 15.953 10.5 4705 | 0.657 | 32.525 9.055 8.661 0.25 NPT 2” 6312 C3 6212 C3
326JP 5906 | 1.11 8 13 4811 | 15953 | 11.25 | 4705 | 0.657 | 34.021 9.055 8.661 0.25 NPT 2” 6312 C3 6212 C3
324/6JP | 5906 | 1.11 8 13 4811 | 15953 | 11.25 | 4.705 | 0.657 | 34.021 9.055 8.661 0.25 NPT 2” 6312 C3 6212 C3
364/5JP | 5.886 | 1.413 9 148 | 4251 | 17.716 | 11.988 | 6.024 | 0.66 35916 | 10.591 | 11.267 | 0.375 NPT 3” 6314 C3 6314 C3
404/5JP | 5.886 | 1.413 10 1811 | 52562 | 19.566 | 13.496 | 6.024 | 0.81 38.911 | 10.591 | 11.267 | 0.375 NPT 3” 6314 C3 6314 C3

B—1 00 Www.wegd. net Data subject to change without notice.



|iiE[| Mechanical Data

CCP - JP - Three Phase - TEFC - Cast Iron - continued

Frame Type Flange Size AJ AK BD S T AH Angle BF Number
143JP c C FC-149 5.874 45 6.496 UNC 3/8"x16 0.157 7.319 45° 4
143/5JP C C FC-149 5.874 45 6.496 UNC 3/8"x16 0.157 7.319 45° 4
145JP C C FC-149 5.874 45 6.496 UNC 3/8"x16 0.157 7.319 45° 4
182JP C C FC-149 5.874 45 6.496 UNC 3/8"x16 0.157 7.319 45° 4
182/4JP C C FC-149 5.874 45 6.496 UNC 3/8"x16 0.157 7.319 45° 4
213JP C C FC-184 7.252 8.5 8.858 UNC 1/2"x13 0.248 8.13 45° 4
213/5JP C C FC-184 7.252 8.5 8.858 UNC 1/2"x13 0.248 8.13 45° 4
215JP C C FC-184 7.252 8.5 8.858 UNC 1/2”x13 0.248 8.13 45° 4
254JP c C FC-184 7.252 8.5 8.858 UNC 1/2"x13 0.248 8.13 45° 4
254/6JP C C FC-184 7.252 8.5 8.858 UNC 1/2"x13 0.248 8.13 45° 4
256JP C C FC-184 7.252 8.5 8.858 UNC 1/2"x13 0.248 8.13 45° 4
284JP C C FC-279 11 125 13.593 UNC 5/8"x11 0.248 8.13 45° 4
284/6JP C C FC-279 11 125 13.593 UNC 5/8"x11 0.248 8.13 45° 4
324JP C C FC-279 1 12.5 13.593 UNC 5/8”x11 0.248 8.13 45° 4
326JP c C FC-279 11 125 13.593 UNC 5/8”x11 0.248 8.13 45° 4
324/6JP C C FC-279 11 125 13.593 UNC 5/8"x11 0.248 8.13 45° 4
364/5JP C C FC-279 11 125 15.562 UNC 5/8”x11 0.248 8.13 45° 8
404/5JP C C FC-279 11 125 15.562 UNC 5/8"x11 0.248 8.13 45° 8
Frames 143JP to 213/5JP

- I__HH_
a |
—
o Bl s
k T‘
=z =,
B —I

c

¢ EP —f

AT T

|—o EL—h
g

D1

- 12 —|

Drawings on next page

Data sublect to change without notice. Can't find what you are looking for? Call 1-800-ASK-4WEG (275-4934)  B-101



Mechanical Data

CCP - JP - Three Phase - TEFC - Cast Iron - continued

Frames 254JP to 326JP

Frames 364/5JP to 404/5JP

B-102

HK:

www.weg.net

HB—

HB—

-
AB -
—— HH —
BF
B oA | |
o - e L %8
90" N k TT
>
| [ |©.i|
T T — T | g
Hole H— =] Lo —f—8c
2E — 2F BA —|
A B "
c
i —_— :
T R "
& adz— — =g
-
b il 5
s R
] - 1 |-
1 |
£Q [
Er
A
P
-
BF
< N l
1 ° ] :
90" T
[=)
1]
T | K i
r 1 T — 1= | .
) Hole H K= |—l_2F —I —l_Bc
2E —— 2F ——— BA —
A B ! L
c
— Es —
T ‘|—‘in — |
& d+5— — ==
- - [ T 1
] ! a
Bl
— 12 |
EQ
Er

Data subject to change without notice.



[Weg

Mechanical Data

CCP - JM - Three Phase - ODP - Rolled Steel

Frame 2E J A P AB AH 2F B BA CH U EL EM EP EQ
143/5JM 5.5 1.732 6.535 6.467 5.873 4.267 4.000/5.000 6.496 2.75 1.377 | 0.8745 | 1.156 1 1.179 0.63
182/4JM 7.5 1.299 8.661 8.114 6.696 4.258 4.500/5.500 6.299 35 1.377 | 0.8745 1.25 1 1.376 0.63
213/5JM 8.5 1.575 9.449 9.846 7.973 4.258 5.500/7.000 7.953 4.25 1.929 | 0.8745 1.25 1 1.769 0.63
254/6JM 10 1693 | 11.417 | 11.558 | 9.448 5.25 8.252/10.000 11.417 4.75 1.929 1.249 1.75 1.375 1.769 0.63
Frame ET R D G HB 0 HD HK HoleH | C LL LM S AA DE NDE

143/5JM 2.88 0.771 35 0.12 1.784 6.724 6.728 2.629 | 0.343 4.563 4.09 0.187 1.118" 6206 72 6203 72
182/4JM 2.88 0.771 4.5 0.167 | 2.784 8.557 8.557 2.629 | 0.406 4.563 4.09 0.187 1.118" 6207 72 6205 72
213/5JM 2.88 0.771 5.25 0.167 | 2.982 10.144 | 10.173 | 3.022 | 0.406 5.551 5.25 0.187 1.377" 6209 72 6206 72
254/6JM | 3.006 1.1 6.25 0.187 | 3.631 12.01 12.029 | 3.645 0.53 6.299 | 6.017 0.25 1.732" 6309 Z-C3 | 6208 Z-C3
Frame Type Flange Size AJ AK BD S T AH Angle BF Number

143/5JM C C FC-149 5.874 45 6.45 UNC 3/8"x16 0.157 4.267 45° 4

182/4JM C C FC-149 5.874 45 6.496 UNC 3/8"x16 0.138 4.258 45° 4

213/5JM C C FC-184 7.25 8.5 9.401 UNC 1/2"x13 0.25 4.258 45° 4

254/6JM C C FC-184 7.25 8.5 11.084 UNC 1/2"x13 0.25 5.25 45° 4

CCP - JP - Three Phase - ODP - Rolled Steel

Frame 2E J A P AB AH 2F B BA CH U EL EM EP EQ
143/5JP 5.5 1.732 6.535 6.467 5.873 7.319 4.000/5.000 6.496 2.75 1.377 0.875 1.156 1 1.179 1.563
182/4JP 7.5 1.299 8.661 8.114 6.696 7.319 4.500/5.500 6.299 35 1.377 0.875 1.25 1 1.376 1.563
213/5JP 8.5 1.575 9.449 9.846 7.973 8.13 5.500/7.000 7.953 4.25 1.929 1.25 1.75 1.375 1.769 2.374
254/6JP 10 1.693 11.417 | 11.558 9.448 8.13 8.252/10.000 11.417 4.75 1.929 1.249 1.75 1.375 1.769 2.382
Frame L:negth ET R D G HB 0 HD | HK H(ljile C| w | s AA DE NDE
143/5JP | 1.654 5941 | 0.771 35 012 | 1.784 | 6.724 6.728 | 2.629 | 0.343 | - | 4563 | 4.09 | 0.187 | 1.118” 6206 ZZ 6203 72
182/4JP | 1.654 5.941 | 0.771 4.5 0.167 | 2.784 | 8.557 8.557 | 2.629 | 0.406 | - | 4563 | 4.09 | 0.187 | 1.118” 6207 ZZ 6205 72
213/5JP 2.56 5.886 | 1.11 525 | 0.167 | 2982 | 10.144 | 10.173 | 3.022 | 0.406 | - | 5.551 5.25 0.25 1.377” 6209 722 6206 72
254/6JP | 2.559 5.886 | 1.11 6.25 | 0.187 | 3.631 12.01 12.029 | 3.645 | 0.53 6.299 | 6.017 | 0.25 1.732” | 6309 Z-C3 | 6208 Z-C3

Frame Type Flange Size AJ AK BD S T AH Angle BF Number

143/5JP C C FC-149 5.874 45 6.45 UNC 3/8”x16 0.157 7.319 45° 4

182/4JP C C FC-149 5.874 4.5 6.496 UNC 3/8”x16 0.138 7.319 45° 4

213/5JP C C FC-184 7.25 8.5 9.401 UNC 1/2"x13 0.25 8.13 45° 4

254/6JP C C FC-184 7.25 8.5 11.084 UNC 1/2"x13 0.25 8.13 45° 4

Drawings on next page
Data subject to change without notice. Can't find what you are looking for? Call 1-800-ASK-4WEG (275-4934)  B-103



Mechanical Data [up 0

CCP - JM and JP - Three Phase - ODP - Rolled Steel - continued

Frame 143
p—— LL —_—
[
B @E‘g
| P |
AB m——
BF
HK
| —#A
]
90" -
i | |
[ 1,1
T T
A
e
N — '
t T z
44 L
=
EQ
ET
AH
Frame 182

m
1

—¢
———¢ BD

—1—BB

| L

M -
T 1
& = !

- 12 —

=
@
15
=
S
.
S
=
IS
53

[]
P
1 ]
e B —|
=]
1
=
T
eN—!

B-1 04 Www.wegd. net Data subject to change without notice.



|||E q Mechanical Data

CCP - JM and JP - Three Phase - ODP - Rolled Steel - continued

Frame 213 to 256
— LL —
= @@g
AA
°o —_— | === <38
[ cm—
— e e
—
—
= |
ok
2F —— —— BB
2F —— BA
B —_—
FC
C
— ES —f S
T s T I ) » [
& d = —
1
: [ [ T z
S R
.
R
EQ
ET
AH

Data subject to change without notice. Can't find what you are looking for? Call 1-800-ASK-4WEG (275-4934)  B-105



Mechanical Data [up 1

IEC Metric Motors - Cast Iron Frames

Frame A AA AB AC AD B BB c CA D D1 D2 DA E EA ES F

63 100 | 255 116 125 123 80 95 40 78 11j6 EM4 EM3 96 23 20 14 4

7 112 | 285 132 141 131 20 1135 45 88 14j6 DM5 EM4 11j6 30 23 18 5

80 125 | 305 149 159 140 100 125.5 50 93 19j6 DM6 DM4 14j6 40 30 28 6

908 140 37 164 184 159 100 131 56 135 24i6 DM8 DM6 16j6 50 40 36 8

90L 140 37 164 184 159 125 156 56 135 24i6 DM8 DM6 16j6 50 40 36 8

L90S 140 37 164 184 159 100 131 56 135 24j6 DM8 DM6 16j6 50 40 36 8

L90L 140 37 164 184 159 125 156 56 135 24i6 DM8 DM6 16j6 50 40 36 8

100L 160 40 188 206 169 140 173 63 118 28j6 DM10 DM8 22j6 60 50 45 8

L100L 160 40 188 206 169 140 173 63 162 286 DM10 DM8 22i6 60 50 45 8

112M 190 405 220 215 192 140 177 70 128 28i6 DM10 DM8 24j6 60 50 45 8

L112M 190 | 405 220 215 192 140 177 70 158 28j6 DM10 DM8 24i6 60 50 45 8
1325 216 | 455 248 274 220 140 187 89 150 38K6 DM12 DM10 28j6 80 60 63 10
132M 216 | 455 248 274 220 178 225 89 150 38Kk6 DM12 DM10 28i6 80 60 63 10
132M/L 216 | 455 248 274 220 178/203 250 89 150 38k6 DM12 DM10 28j6 80 60 63 10
160M 254 64 308 329 266 210 254 108 174 426 DM16 DM16 42k6 110 110 80 12
160L 254 64 308 329 266 254 298 108 174 426 DM16 DM16 42k6 110 110 80 12
180M 279 78 350 360 281 241 294 121 200 48K6 DM16 DM16 48K6 110 110 80 14
180L 279 78 350 360 281 279 332 121 200 48K6 DM16 DM16 48K6 110 110 80 14
200L 318 82 385 402 319 305 370 133 222 55m6 DM20 DM20 48K6 110 110 80 16
2255/M 356 80 436 455 410 286/311 412 149 319/294 60m6 DM20 DM20 60m6 140 140 125 18
2508/M 406 100 506 486 410 311/349 467 168 354/316 65m6 DM20 DM20 60m6 140 140 125 18
280S/M 457 100 557 599 445 368/419 517 190 385/334 75m6 DM20 DM20 65m6 140 140 125 20
3158/M 508 120 630 657 525 406/457 621 216 443 80m6 DM20 DM20 65m6 170 140 160 22
315L 508 120 630 657 589 508 752 216 502 80m6 DM20 DM20 65m6 170 140 160 22
355M/L 610 140 750 736 609 560/630 760 254 483/413 | 100m6 | DM24 DM20 806 210 170 200 28

Frame | FA | G GB | GD | GF | H | HA | HB | HC HD HF HH HK K L Lc LL m s1 DE NDE

63 3| 85 | 72 | 4 | 3 | 63 | 7 | 255 | 130 | 1563 | 685 80 59 7 216 | 241 | 1085 | 99 | 2xM20x1,5 | 62017Z | 62012Z
7 4 | 11 | 85| 5 | 4 | 71 | 7| 33 | 145 | 1638 | 76 20 59 7 250 | 276 | 1085 | 99 | 2xM20x15 | 62027Z | 62027Z
80 5 | 155 | 11 6 | 5 | 8 | 8 | 435 | 163 | 1743 | 87 100 | 59 10 | 277 | 313 | 1085 | 99 | 2xM20x15 | 6204ZZ | 62032Z
208 51 2 | 13 | 7 | 5 | 9 | 9| 4 | 182 | 1824 | 9 106 | 67 10 | 305 | 350 115 | 104 | 2xM25x1,5 | 620572 | 620422
90L 5 2 | 13| 7 | 5 | 9 | 9| 4 | 182 | 1824 | 9 | 1185 | 67 10 | 329 | 375 115 | 104 | 2xM25x1,5 | 62052Z | 62042Z
L90S 5 | 20 | 13 | 7 | 5 | 90 | 9 | 45 | 182 | 1824 | 9% 106 | 67 10 115 | 104 | 2xM25x1,5 | 62052Z | 62042Z
LooL 5 | 2 | 13| 7 | 5 | 9 | 9 | 4 | 182 | 1824 | 90 | 1185 | 67 10 115 | 104 | 2«M25x1,5 | 62052Z | 620472Z
100L 6 | 24 |185| 7 | 6 | 100 | 10 | 615 | 205 | 244 | 1064 | 133 | 67 12 | 376 | 431 115 | 104 620627 | 62052Z
LiooL | 6 | 24 | 185 | 7 | 6 | 100 | 10 | 615 | 205 | 244 | 1064 | 133 | 67 12 15 | 104 6206272 | 620522
M2M | 8 | 24 | 20 | 7 | 7 | 112 | 10 | 545 | 226 | 280 | 112 | 140 | 80 12 | 394 | 448 140 | 133 | 2xM32x1,5 | 62072Z | 62062Z
12w | 8 | 24 | 20 | 7 | 7 | 112 | 10 | 545 | 226 | 280 | 112 | 140 | 80 12 140 | 133 | 2xM32x1,5 | 62072Z | 62062Z
1328 8 | 33 | 24 | 8 | 7 | 132 |16 | 75 | 274 | 319 | 132 | 159 | &0 12 | 452 | 519 140 | 133 | 2«M32x1,5 | 63082Z | 62072Z
132M | 8 | 33 | 24 | 8 | 7 | 132 |16 | 75 | 274 | 319 | 132 | 178 | 80 12 | 489 | 557 140 | 133 | 2«M32x1,5 | 63082Z | 62072Z
132M/L | 8 | 33 | 24 | 8 | 7 | 132 |16 | 75 | 274 | 319 | 132 | 1905 | 80 12 | 515 | 582 140 | 133 | 2xM32«1,5 | 630822 | 620722
60M |12 | 37 | 37 | 8 | 8 | 160 | 22 | 79 | 331 | 374 | 168 | 213 | 101 | 145 | 598 | 712 | 1985 | 190 | 2xM40x15 | 6309C3 | 6209 C3
60L | 12| 37 | 37 | 8 | 8 | 160 | 22 | 79 | 331 | 374 | 168 | 235 | 101 | 145 | 642 | 756 | 1985 | 190 | 2xM40x15 | 6309C3 | 6209 C3
180M | 14 | 425 | 425 | 9 | 9 | 180 | 28 | 92 | 366 | 413 | 180 | 2415 | 101 | 145 | 664 | 782 | 1985 | 190 | 2xMdox15 | 6311C3 | 6211C3
180L | 14 | 425 | 425 | 9 | 9 | 180 | 28 | 92 | 366 | 413 | 180 | 2605 | 101 | 145 | 702 | 820 | 1985 | 190 | 2xM40x15 | 6311C3 | 6211C3
200 | 14| 49 | 425 | 10 | 9 | 200 | 30 | 119 | 407 | 464 | 218 | 2855 | 1195 | 185 | 767 | 880 230 | 220 | 2xM50x15 | 6312C3 | 6212C3
2058/M | 18 | 53 | 53 | 11 | 11 | 225 | 34 | 254 | 453 | 541 421 212 | 153 | 185 | 886 | 1034 | 269 | 285 | 2xM50x1,5 | 6314C3 | 6314C3
250/M | 18 | 58 | 53 | 11 | 11 | 250 | 43 | 297 | 493 | 583 | 463 | 214 | 153 | 24 | 965 | 1113 | 269 | 285 | 2xM63x1,5 | 6314C3 | 6314C3
2808/M | 18 | 675 | 58 | 12 | 11 | 280 | 42 | 386 | 580 | 700 | 572 | 266 | 151 24 | 1071 | 1223 | 314 | 312 | 2xM63x1,5 | 6316C3 | 6316C3
315sm | 18 | 7 58 | 14 | 11 | 315 | 48 | 386 | 644 | 768 | 592 | 264 | 176 | 28 | 1274 | 1426 | 379 | 382 | 2xM63x1,5 | 6319C3 | 6316C3
35 | 18| 71 58 | 14 | 11 | 315 | 48 | 336 | 644 | 774 | 575 | 284 | 220 | 28 | 1389 | 1536 | 404 | 436 | 2xM63x1,5 | 6319C3 | 6316C3
355M/L | 22 | 90 | 71 | 16 | 14 | 355 | 50 | 461 | 723 | 898 | 700 | 339 | 220 | 28 | 1482 | 1677 | 404 | 436 | 2xM63x15 | 6322C3 | 6319C3

Dimensions measured in millimeters.

Drawings on next page

B—1 06 Www.wegd. net Data subject to change without notice.



[Weg

Mechanical Data

IEC Metric Motors - Cast Iron Frames - continued

Frames 63 to 132M/L

HB
_;_

HF —~
<G

| e . \JF

Frames 160L to 200L

Frames 225S/M to 355M/L

b
T TNGR
3 !’llﬂ'@.\

V/‘ \”——
Cre

~=EA CA B C=t=E—=
BB
L
LC
HH
o | =T ESm
T =ddl —
o .
BA -] | [ |
= EA: CA B C —=—=E =
e g —
L
Lc

&=

(D
Ll

—yy =
I Z

Data subject to change without notice.

Can't find what you are looking for? Call 1-800-ASK-4WEG (275-4934)

d1

GD

B-107



Mechanical Data

IEC Metric Motors - Cast Iron Frames - Additional Flange Detail

Frame Type Flange Size LA M N P S T Angle Holes
63 C FC FC-95 45 95.2 76.2 143 UNC 1/4"x20 4 45° 4
63 [ C-90 C-90 9.5 75 60 90 M5 25 45° 4
Il C FC FC-95 10 95.2 76.2 143 UNC 1/4"x20 4 45° 4
Il [ C-105 C-105 8 85 70 105 M6 25 45° 4
80 C FC FC-95 10 95.2 76.2 143 UNC 1/4"x20 4 45° 4
80 [ C-120 C-120 10.5 100 80 120 M6 3 45° 4
90S [ FC FC-149 15 149.2 114.3 165 UNC 3/8"x16 4 45° 4
90S C C-140 C-140 10.5 115 95 140 M8 3 45° 4
90L [ FC FC-149 15 149.2 114.3 165 UNC 3/8"x16 4 45° 4
90L C C-140 C-140 10.5 115 95 140 M8 3 45° 4

100L [ FC FC-149 12 149.2 114.3 165 UNC 3/8"x16 4 45° 4
100L C C-160 C-160 12 130 110 160 M8 35 45° 4
112M [ FC FC-184 13.5 184.2 215.9 225 UNC 1/2"x13 6.3 45° 4
112M C C-160 C-160 13.5 130 110 160 M8 35 45° 4
L90S [ FC FC-149 15 149.2 114.3 165 UNC 3/8"x16 4 45° 4
L90S [ C-140 C-140 10.5 115 95 140 M8 3 45° 4
L100L [ FC FC-149 12 149.2 114.3 165 UNC 3/8"x16 4 45° 4
L100L C C-160 C-160 12 130 110 160 M8 35 45° 4
L90L [ FC FC-149 15 149.2 114.3 165 UNC 3/8"x16 4 45° 4
L90L C C-140 C-140 10.5 115 95 140 M8 3 45° 4

1328 [ FC FC-184 9 184.2 215.9 225 UNC 1/2"x13 6.3 45° 4

1328 C C-200 C-200 15.5 165 130 200 M10 35 45° 4

132M [ FC FC-184 9 184.2 215.9 225 UNC 1/2"x13 6.3 45° 4

132M C C-200 C-200 15.5 165 130 200 M10 35 45° 4

L112M [ FC FC-184 13.5 184.2 215.9 225 UNC 1/2"x13 6.3 45° 4

L112M C C-160 C-160 13.5 130 110 160 M8 35 45° 4

160M [ FC FC-184 184.2 215.9 225 UNC 1/2"x13 6.3 45° 4

160M C C-250 C-250 19 215 180 249 M12x1,75 6.3 45° 4

132M/L [ FC FC-184 9 184.2 215.9 225 UNC 1/2"x13 6.3 45° 4
132M/L C C-200 C-200 15.5 165 130 200 M10 35 45° 4
160L [ FC FC-184 184.2 215.9 225 UNC 1/2"x13 6.3 45° 4
160L C C-250 C-250 19 215 180 249 M12x1,75 6.3 45° 4
180M [ FC FC-228 13.5 228.6 266.7 280 UNC 1/2"x13 6.3 45° 4
180L C FC FC-228 13.5 228.6 266.7 280 UNC 1/2"x13 6.3 45° 4
200L [ FC FC-228 13.5 228.6 266.7 280 UNC 1/2"x13 6.3 45° 4
225S/M C FC FC-279 18.5 279.4 3175 395 UNC 5/8”x11 6.3 22°30° 8
2508/M [ FC FC-355 18.5 355.6 406.4 455 UNC 5/8"x11 6.3 22°30° 8
280S/M C FC FC-355 18.5 355.6 406.4 455 UNC 5/8”x11 6.3 22°30° 8
3158/M [ FC FC-368 18.5 368.3 419.1 455 UNC 5/8"x11 6.3 22°30° 8

315L C FC FC-368 18.5 368.3 419.1 455 UNC 5/8”x11 6.3 22°30° 8
355M/L C FC FC-368 335 368.3 419.1 455 UNC 5/8”x11 6.3 22°30° 8

Dimensions in mm

FC & C-DIN Flanges

B-108

www.weg.net

Data subject to change without notice.



[Weg

Mechanical Data

IEC Metric Motors - Cast Iron Frames - Additional Flange Detail

Frame Type Flange Size LA M N P S T Angle Holes
63 F FF FF-115 5.5 115 95 140 10 3 45° 4
! F FF FF-130 7 130 110 160 10 3.5 45° 4
80 F FF FF-165 9 165 130 200 12 35 45° 4

90S F FF FF-165 10 165 130 200 12 35 45° 4

90L F FF FF-165 10 165 130 200 12 35 45° 4
100L F FF FF-215 125 215 180 250 15 4 45° 4
112M F FF FF-215 12,5 215 180 250 15 4 45° 4
L90S F FF FF-165 10 165 130 200 12 3.5 45° 4
L100L F FF FF-215 12.5 215 180 250 15 4 45° 4
L90L F FF FF-165 10 165 130 200 12 35 45° 4
1328 F FF FF-265 12 265 230 300 15 4 45° 4

132M F FF FF-265 12 265 230 300 15 4 45° 4

L112m F FF FF-215 12,5 215 180 250 15 4 45° 4

160M F FF FF-300 18 300 250 350 19 5 45° 4

132M/L F FF FF-265 12 265 230 300 15 4 45° 4
160L F FF FF-300 18 300 250 350 19 5 45° 4
180M F FF FF-300 18 300 250 350 19 5 45° 4
180L F FF FF-300 18 300 250 350 19 5 45° 4
200L F FF FF-350 18 350 300 400 19 5 45° 4

225S/M F FF FF-400 18 400 350 450 19 5 22°30 8

250S/M F FF FF-500 18 500 450 550 19 5 22°30 8

280S/M F FF FF-500 18 500 450 550 19 5 22°30° 8

315S8/M F FF FF-600 22 600 550 660 24 6 22°30” 8
315L F FF FF-600 22 600 550 660 24 6 22°30° 8

355M/L F FF FF-740 22 740 680 800 24 6 22°30 8

Dimensions in mm

Data subject to change without notice.

Can't find what you are looking for? Call 1-800-ASK-4WEG (275-4934)

B-109





